NAIR Assistant Operations Manager AOM

Topic:- AOM_PA_NAIRAUG4

" Gross clearance of B Class ODC is?

T Formg ST FT AT T §?
[Question ID = 353][Question Description = Q01_AOM_PA_NAIRAUG4] . .
. 22.86 cm (9 inches) and above / 22.86 Q#T (9 89) T 37f9F
[Option ID = 1409]
> Less than 22.86 cm (9 inches) / 22.86 &&T (9 &) W &&

[Option ID = 1410]

15.24 cm (6 inches) and above but less than 22.86 cm (9 inches) / 15.24 J#HT
(6 =) T 31T AfersT 22.86 TAT (9 &9) § FH

[Option ID = 1411]

* None of the Above / 3TRIeFd & & FIg g

[Option ID = 1412]

3

Correct Answer :-

15.24 cm (6 inches) and above but less than 22.86 cm (9 inches) / 15.24 ®HT
(6 &) T 3178 IfehsT 22.86 THT (9 =) T FH

[Option ID = 1411]

? Maximum Permissible Sanctioned Speed of B Class ODC in BG.
et a1 &Y FFema HERHT 1 3TFH T T i B

[Question ID = 354][Question Description = Q02_AOM_PA_NAIRAUG4]

" 75 Kmph / 75 Ter#1/.
. Seclignal speed / BTl TS
60 Kmph / 60 /e,
g Zpg n&;ﬁ;}h ! 40 ferait/e.
[Option ID = 1416]

* 40 Kmph / 40 feaira.

[Option ID = 1416]

* In case of double exit siding target time for turning out the Medical Van is-

3B TH FIEfET & ATHS H AfSswo 9 & a9 313¢ &1 Jfad §AT &
[Question ID = 355][Question Description = Q03_AOM_PA_NAIRAUG4]
. 25 Minutes / 25 TRaE
[Option ID = 1417]
> 15 Minutes / 15 f&=e
[Option ID = 1418]

> 35 Minutes / 35 [&«e

[Option ID = 1419]
+ 30 Minutes / 30 &«c
[Option ID = 1420]

correct Answer :- Deleted



4)
How many detonators should be placed on the broad gauge line at a distance
of 1200 meters from the obstruction?

1S 3157 WllSel IR 37eRTT ¥ 1200 HIeX T gl | fohelel Seliex I ST =MgT?

[Question ID = 356][Question Description = Q04_AOM_PA_NAIRAUG4]
- One detonator / Teh

[Option ID = 1421]
> Two detonators / gT 2els1eT

[Option ID = 1422]

> Three detonators / i 22isel

[Option ID = 1423]
“ Four detonators / X 22l

[Option ID = 1424]

Correct Answer :- Deleted

" Which whistle code is given by the Loco Pilot during Train Parting?
T UITEaT o ST SRl UTIoIE aRT ShisT AT HICT g &ar ATar g2

[Question ID = 357][Question Description = Q05_AOM_PA_NAIRAUG4]

One short, one long and one short whistles / Teh BIeT, T &l 3 v oer

[Option ID = 1425] .
2 One long continuous whistle / T& o€l oRTTAR HICI
[Option ID = 1426]

One long, one short, one long and one short whistles / Te J&T, T BICT, T

3.
oeT 3T T Bier der
[Option ID = 1427]

“ Three short whistle / dT BT HEr

[Option ID = 1428]

1

Correct Answer :-

_ One long, one short, one long and one short whistles / T e, Tk BIeT, Th
e 31T T BT Orer

[Option ID = 1427]

® Which module is not included in ICMS?

EHETTHTH F HieT AT ATSYS ATTHT FET 872

[Question ID = 358][Question Description = Q06_AOM_PA_NAIRAUG4]

" PAM / 9ToTH

[Option ID = 1429]

» COIS / Hia#ETy

[Option ID = 1430]

*TMS / ATy

[Option ID = 1431]
* Time Tabling Module / ZT8H afeldT Alggel
[Option ID = 1432]

Correct Answer :-

* TMS / ETATH

[Option ID = 1431]



7 Commissioner of Railway Safety means CCRS or CRS appointed under
section of the Railways Act 1989

YoTar GT&TT AT erd T 3 & Tora Afarferarsr 1989 Framr & T8 =g
HIET3RTH I7 E3NTH

[Question ID = 359][Question Description = Q07_AOM_PA_NAIRAUG4]
.4

[Option ID = 1433]
. 3

[Option ID = 1434]
* 5

[Option ID = 1435]
4. 8

[Option ID = 1436]
Correct Answer :-
°5

[Option ID = 1435]

® To treat any accident as averted collision, outside station limits, the distance
between two trains shall be:

ToRelT st GEiCHTT 1 STell 75 TFRY AT & ToIT, T HIAT & FT6Y, &l ol &
= & g grem:

[Question ID = 360][Question Description = Q08_AOM_PA_NAIRAUG4]

' 600 meters or less / 600 FIET IT 38H FH
[Option ID = 1437]

2 400 meters or less / 400 HeT AT 3HY FH
[Option ID = 1438]

s Less than 400 meters / 400 AIeT § &
[Option ID = 1439]

+ 180 meters or less / 180 HIeIT AT 3T FH
[Option ID = 1440]

Correct Answer :-

- Less than 400 meters / 400 HeI & FH

[Option ID = 1439]

9 CRS shall hold statutory enquiry into the accidents falling under Section
of Railways Act 1989.

HIHRTH &9 J=ad 1989 Fr amr ¥ e I FTell GETATHT T
Jenfaes S FLEm|

[Question ID = 361][Question Description = Q09_AOM_PA_NAIRAUG4]

110
[Option ID = 1441]
=111

[Option ID = 1442]

112
[Option ID = 1443]

“ 113

[Option ID = 1444]

Correct Answer :-

* 113

[Option ID = 1444]



9 According to the policy, who is responsible for the maintenance of OHE (Over
Head Equipment) from the take-off point onward, including inside the
Terminal?

AfT F agER, fAqer F Y w@iga w3 fog @ amer v
(3atgEsiFaude) & T # fav wiF SFAer §7?

[Question ID = 362][Question Description = Q10_AOM_PA_NAIRAUG4]

" GCTO / SrdTeram
[Option ID = 1445]

> Zonal Railway / 83T Yo

[Option ID = 1446]

> The Accounts department of the Division / #EeT &l oI@T [THTT

“ None of these / 87 &g AgT

[Option ID = 1448]
Correct Answer :-

* Zonal Railway / &3 o1

[Option ID = 1446]

" What provision should the GCTO make for the Electronic In-motion
Weighbridge (EIMWB) at GCTs planning to deal with outward cargo (loading)?

e eI (SNfEeT) ¥ Tues Fr T 9497 T AT F Sl Sa-Arer
AfeIeT (S3TSUHASsogE) & TorT SIS T T UTaere ST TeT?

[Question ID = 363][Question Description = Q11_AOM_PA_NAIRAUG4]
 EIMWB provision is not essential / EIMWB UTaTe ATE2T el &

[Option ID = 1449]

, EIMWB provision is mandatory and should be done at the GCTO's cost /
EIMWB wTarers e & 3 g8 SiEIer3r i arera 91 fomar s anfee

[Option ID = 1450]

* The Railway provides EIMWB / Ioid EIMWB U&T SidT &

[Option ID = 1451]

. EIMWB is only required for inward cargo / EIMWB sael 3Tk It & forT
HTFTF &

[Option ID = 1452]

Correct Answer :-

. EIMWB provision is mandatory and should be done at the GCTO's cost /
EIMWB vraers 3ifaard & 31T 28 Shirair & amera oX forar smar anfee

[Option ID = 1450]

2 What is the maximum tenure for which Railway land can be leased to the
GCTO under the GCT Agreement?

SITET THST & dgd SHTHICIHT T {oTd T {7 ATAHAH Tohdet FIIHIA &
T gee W & s a7

[Question ID = 364][Question Description = Q12_AOM_PA_NAIRAUG4]

- 25 years / 25 3§
[Option ID = 1453]

2 30 years / 30 ¥
[Option ID = 1454]

> 35 years / 35 a5

[Option ID = 1455]



+ 40 years / 40 9
[Option ID = 1456]

Correct Answer :-

- 35 years /35 a9

[Option ID = 1455]

13) In case of defective speedometer Loco pilot will reduce speed

THEATET @O §l U olleh! ITTale TS A T &9 |

[Question ID = 365][Question Description = Q13_AOM_PA_NAIRAUG4]

" Can take decision of his own / 98 T9T RUIT I F&HaT &
[Option ID = 1457]

2 20%
[Option ID = 1458]

> 30%
[Option ID = 1459]

+10%

[Option ID = 1460]

Correct Answer :- Deleted

4 When Train Stops at First stop signal for more than---- Guard will go for
protection from rear.

el A ¥ SIET &T HES FIT THaTeTol U &bl § AT S W &
forT Ay FATTem|

[Question ID = 366][Question Description = Q14_AOM_PA_NAIRAUG4]
10 min. or such less time as may be prescribed by special instructions / 10

1

e ryar v A AT o Ry St & fuifa far s g g

[Option ID = 1461]

. 15min. or such less time as may be prescribed by special instructions /15

AT YT U FH AT oY Fow et ¥ futRa fFar ST gt B

[Option ID = 1462]

. 5 min. or such less time as may be prescribed by special instructions / 5 &=

ST VET FH AT o A Rt @ FuiRa a5 gwar g

[Option ID = 1463]
+ According to Guard wish / 3TTE % STBTTAR
[Option ID = 1464]

Correct Answer :-

. 19min. or such less time as may be prescribed by special instructions /15

Bee 3ruer 097 &7 AT S 39w @t & FuiRa BT o1 e B

[Option ID = 1462]

' To protect train from rear guard shall place first detonator in BG

ST 1 IIS & AT e g IS dToll A Tgoll SeIeieT olamaeT|
[Question ID = 367][Question Description = Q15_AOM_PA_NAIRAUG4]

- 400m / 400 H.
[Option ID = 1465]

= 500m / 500 #HT.
[Option ID = 1466]

* 600m / 600 .
[Option ID = 1467]

+ 800m / 800 HT.

[Option ID = 1468]

Correct Answer :-



* 600m / 600 #T.

[Option ID = 1467]

' How many total no. of system of working for train running?

¢ ol TelTel 8] ol fehclal dicher fEEes g7

[Question ID = 368][Question Description = Q16_AOM_PA_NAIRAUG4]
4
[Option ID = 1469]
2 §
[Option ID = 1470]
. 6
[Option ID = 1471]
4. 3

[Option ID = 1472]

Correct Answer :-
‘6

[Option ID = 1471]

17)

What is Adequate distance beyond first stop signal for granting line clear
in case of two aspect lower quadrant signaling?

al 3TEYee olaX FaT8ic ATl & oS Gk & & fow g2 A Besrar
o 3TaT qATC g TeheTsil 67

[Question ID = 369][Question Description = Q17_AOM_PA_NAIRAUG4]

' 180m / 180 HI.

[Option ID = 1473]

> 580m / 580 #T,
[Option ID = 1474]

» 240m / 240 HT.
[Option ID = 1475]

« 400m / 400 Y.
[Option ID = 1476]

* 400m / 400 #T.

[Option ID = 1476]

18)

Where two detonators are placed for Protection of a train stopped in automatic
block signaling section?

AT solleh erleT H Tehl g5 o T FR&TT & folT &l Seleex gl ol ST
g2

[Question ID = 370][Question Description = Q18_AOM_PA_NAIRAUG4]
90m or at such distance as has been fixed by special instructions / 90 HI 372raT

|t g o Ry et @ o 4y E #

[Option ID = 1477]

120m or at such distance as has been fixed by special instructions / 120 #Hr

2

gt e S ey i v S e

[Option ID = 1478]



180m or at such distance as has been fixed by special instructions / 180 #Hr

Hwﬂwaﬁa‘r%ﬁﬂrﬁ‘q‘aﬁ@mﬁﬂé%

[Option ID = 1479]

400m or at such distance as has been fixed by special instructions / 400 &Hr

" sprar v gl S Rew fidat @ g & s ¥

[Option ID = 1480]

Correct Answer :- Dgleted

19 |n train following system all the trains following the first train shall be timed to
run at the same speed and such speed shall not exceed:

T WISl [UTeH H UgeIl ¢ & 91 Tolel JToll WAT ¢l T Teh &1 Ty & Toled
& Tore g R swen 3 et a1l sua 3 iY@t

[Question ID = 371][Question Description = Q19_AOM_PA_NAIRAUG4]

- 30KMPH / 30 feraY/e.

» 25KMPH / 25 frait/er

» 15KMPH / 15 fraft/er

. As E;;‘&I]_oco pilot convenience / ST ITIIeIE & FlaUTTHR
[Option ID = 1484]

Correct Answer :-

* 25KMPH / 25 f&HT/.

[Option ID = 1482]

* When the train is required to stop and the restriction is likely to last only for a
day or less three detonators shall be placed at a distance of------- in BG.

S & T Uehed T TTTSFAT &1 31T I haol To &7 I7 398 &7 G987 O
BT ST AATTAT @I ar AT H .o T gt T IeT Bete TW SUe|

[Question ID = 372][Question Description = Q20_AOM_PA_NAIRAUG4]
1200m / 1200 #.
[Option ID = 1485]
> 800m / 800 #HT.
[Option ID = 1486]
> 600m / 600 &,
[Option ID = 1487]

“+ 400m / 400 #T,

[Option ID = 1488]
Correct Answer :-

* 1200m / 1200 #Y.

[Option ID = 1485]

21 . s . . . . . i .
" Collision Train Accidents will be termed as consequential train Accidents in ---
--- categories.

TR A £ geeeTHT Y AR 9 g ........ ATt ar s

[Question ID = 373][Question Description = Q21_AOM_PA_NAIRAUG4]

" A1toA2/T1 T T2
[Option ID = 1489]

» A1to A3 /T1HT3



[Option ID = 1490]
* A1toAd/T1 T4

[Option ID = 1491]

+ None of these / TH HIg =gl

[Option ID = 1492]

Correct Answer :-

*A1toA4/T1H T4

[Option ID = 1491]

22)

Guard Driver (GDR) Check, at locations where TXR is not available, will be
conducted by crew along with the prescribed performa if

Tt Tl R ATFAHR 3T 7T §, d81 IS F8e’ (SNEIR) T F gar]
e TRa wwiAT & arer Fr sreeft afe

[Question ID = 374][Question Description = Q22_AOM_PA_NAIRAUG4]

The rake is stabled for more than 24 hours / I & 24 €¢ ¥ 3719 T &l
i°F}

[Option ID = 1493]

_ The rake is stabled for more than 12 hours [ 3F & 12 O ¥ A0 T g
=Fy

1

[Option ID = 1494]
. BPC is invalid / STdT&ET 37AT=T &F
[Option ID = 1495]
“« A&C/TTUgHE
[Option ID = 1496]

Correct Answer :- Deleted

“Forwarding note” means the document executed under section

"INV AT FH AT URT & ded =euried e B

[Question ID = 375][Question Description = Q23_AOM_PA_NAIRAUG4]

" 64
[Option ID = 1497]
i

[Option ID = 1498]

> 71
[Option ID = 1499]

4. 89

[Option ID = 1500]

Correct Answer :-

64

[Option ID = 1497]

"’ The following relatives of a deceased passenger comes in the category of
dependents:

AT AT & feaAfafla Reder snfardt hr Sof 7 3 8

[Question ID = 376][Question Description = Q24_AOM_PA_NAIRAUG4]
Minor brother or unmarried sister, widowed sister, widowed daughter-in-law /

" aAraforer o17¢ AT ifeanfed T, forerar aE, e 5

[Option ID = 1501]



A minor child of a pre-deceased daughter if dependent on deceased

. passenger / Ga-Hd <7 &I Aol Bl Alg Ade I 9T AT §

[Option ID = 1502]
s The wife, husband, son and daughter / 9=, UTd, g‘:rua'g'afr

[Option ID = 1503]
+ All of above / 3T THT
[Option ID = 1504]

Correct Answer :-

- All of above / 3Uqad AT

[Option ID = 1504]

) Train passing Signal at Danger, which one is false:

¢ % TResTor @ # UTH &4t & Haey H & sl | ITe0d &

[Question ID = 377][Question Description = Q25_AOM_PA_NAIRAUG4]

When a train passes a fixed stop signal in “ON” position/ ST 1g ¢ Teh [theres
T TaeTel 7 3T FAfd @ TR 2l

[Option ID = 1505]

» When a train passes a Banner Flag / 519 &I ¢ 5T 8aY 812 ¥ T[T ¢ |

[Option ID = 1506]
3

‘When a train passes a automatic stop signal in “ON” position / S« ﬁ'é o
FEITord 1T [¥aetel &7 3o Fufd A R &

[Option ID = 1507]

When a train passes an Engineering stop indicator / S 1§ ¢ S aT

| Feta ST WA

[Option ID = 1508]

When a train passes a automatic stop signal in “ON” position / S« ﬁ'é o
FETiord eI [¥aetel &7 3 Fufd A R g

[Option ID = 1507]

26) Loco outage is:
[Question ID = 378][Question Description = Q26_AOM_PA_NAIRAUG4]

1 The time taken by a locomotive to travel from one division to another / Teh

ArRIAICT SaRT e f3aTeteT & guR f3disTeT e T et & ST9Te ATell FHY

[Option ID = 1509]

The average number of locos available for traffic use in a day / T& g &

ATATATT 39T & ToIT 3TeTetT olieh! T 3iada §&ar

[Option ID = 1510]

3 The time spent by each locomotive for various activities in a day / el

PRI ZaRT U Rt F R Rt $ fre R ar s

[Option ID = 1511]




The total number of locomotives available in a railway system / ToTar TOTTelT &
ST WIhIANCT I ol HEAT

[Option ID = 1512]

Correct Answer :-

The average number of locos available for traffic use in a day / & g &

TS 3TATT & ForT 3qeress oy i 3iaa g&ar

[Option ID = 1510]

) What is the Wagon Turn Round (WTR) for a division if it loads 350 wagons,
receives 150 loaded wagons from other divisions, and has an effective wagon
holding of 2250 wagons at the end of the day?

e fEdee & T 391 & T3E (SsegdiaR) 47 § Ife I 350 397 ofis aar
g, 3= BT & 150 S1S8 d91e UIed T &, A & & 379 H 2250 S91=A7 1
THTST 39T gifeedT BlaT &7

[Question ID = 379][Question Description = Q27_AOM_PA_NAIRAUG4]

- 3.5days /3.5 fa=

[Option ID = 1513]

4.0 days /4.0 &=

[Option ID = 1514]

* 4.5 days /4.5 &1

[Option ID = 1515]
+ 5.0 days /5.0 &=
[Option ID = 1516]

Correct Answer :-

* 45days /4.5 &

[Option ID = 1515]

*®» Which section of the Railways Act, 1989 empowers the Central Government
(Railway Board) to lay down the Schedule of Preferential Traffic?

Yore rfafeas, 1989 &t i O 4T g TR (YT 91E) Ft 3f9aE=g Iraraa
Fr 37T foretfa e & srfmr & €2

[Question ID = 380][Question Description = Q28_AOM_PA_NAIRAUG4]

" Section 71 / 91 71

[Option ID = 1517]

> Section 198 / 9T 198

[Option ID = 1518]

* Section 89 / 9T 89
[Option ID = 1519]

+ Section 169 / &IRT 169
[Option ID = 1520]

* Section 71 / 911 71

[Option ID = 1517]

* What does General Rule 5.06 of Indian Railways state about?

AT YT T ATATT [T 5.06 7@ I 7 Iaar §2

[Question ID = 381][Question Description = Q29_AOM_PA_NAIRAUG4]



" WTT / Sscgerer

[Option ID = 1521]

> ACD / TdTEr

[Option ID = 1522]

. SWR / THESe AT

[Option ID = 1523]

- Fog Device / W14 f2aeg

[Option ID = 1524]

N

Correct Answer :-

- SWR / THE=SZ3R

[Option ID = 1523]

9 When does the ‘A’ marker get illuminated in a Semi-Automatic Stop signal?

-3 T Read 7 'T AT F9 USHd gaT 87

[Question ID = 382][Question Description = Q30_AOM_PA_NAIRAUG4]

When the signal works as a Manual Stop signal /ﬁﬁ?ﬂﬂﬁﬁmﬁqﬁ?ﬂﬂ'
FETHFHFATE

[Option ID = 1525]

X When the signal works as an Automatic Stop signal / 3T f&@aTer Tg=nferg T&a
BT F TTH FT FAT &

[Option ID = 1526]

When the signal works as a Semi-Automatic Stop signal / S& [&3sTer THI-

3.
JTerAfes T oo & §T H HTH FAT &
[Option ID = 1527]

When the signal works as an Advance Stop signal / ST f8sTer Tgamq T&rg

4. T & T H FTH FAT &

[Option ID = 1528]

1

Correct Answer :-

. When the signal works as an Automatic Stop signal | ST FRTaor TgaTfeld &g
AT FFTTHF FT FTaT

[Option ID = 1526]

*Y \When more than one Shunt signal is placed on the same post, how are they
applied to the lines from left to right?

9 TeF &7 OIS OX Uk ¥ 312 2 T&7erer oRe J1a &, df 37¢ a10 & &1 oIngar
O T o] R ST &2

[Question ID = 383][Question Description = Q31_AOM_PA_NAIRAUG4]
The bottom most Shunt signal applies to the extreme left hand line, and the
second Shunt signal from the bottom applies to the next line from the left, and

" so on. / TEY A T o [HeeTer FaH 91 AT Fr A WA g, A AR @
FIRT 2iE THeaTer 91 3R W 37Tell oIT@eT 9T of13] i 7, 3R g4 el

[Option ID = 1529]



The topmost Shunt signal applies to the extreme left hand line, and the second
Shunt signal from the top applies to the next line from the left, and so on. /

" Fad S o R gad a1 3N A oed W AR 8, 3 S ¥ gE o
Roearer 912 31T & 39TelT See W AL AT €, 3 =6 e

[Option ID = 1530]
The topmost Shunt signal applies to the extreme right-hand line, and the
second Shunt signal from the top applies to the next line from the right, and so

" on. / FIW I e et TIW gigeAr 3R A e WA EIaT &, 3R FWH
IR 2T Faeate E1fgar 3T & 3Tel age W 9] 81T &, 3R &6 G|

[Option ID = 1531]

. Two Shunt signals cannot be placed on the same post. / & 2€ [&IaTol T &
Iee 9T 61 T& ST Thd |

[Option ID = 1532]

Correct Answer :-

The topmost Shunt signal applies to the extreme left hand line, and the second
Shunt signal from the top applies to the next line from the left, and so on. /

| Faw SO o e Fad a1 3T T o 9T ] Bl 8, K I & gE o
FEeter 91 3R & 30Tl 8T OX e i &, 3% & a’El

[Option ID = 1530]

*» Which aspect will a Shunt signal show in ‘On’ position when it is placed below
a Stop signal?

T R & A W@ F W 27 Rearor '3 Rufa & ol a1 ggef fe@reem?

[Question ID = 384][Question Description = Q32_AOM_PA_NAIRAUG4]

" No Light / g 2= FTgT

[Option ID = 1533]
* Red /dTl

[Option ID = 1534]

. Similar aspect of the Stop Signal / ek fEFel T GHTA ggel
[Option ID = 1535]

+ Single Yellow / Tehel YraT
[Option ID = 1536]

Correct Answer :-

* No Light / g e wg!

[Option ID = 1533]

*» \When should a Warner signal be provided at a class 'B' station (both single
and double line)?

Foar 9 T2 (AT 3R 29T 1S aIT) WX I [T e UeTe fShar ST
TigT?

[Question ID = 385][Question Description = Q33_AOM_PA_NAIRAUG4]
_ If trains run through at a speed exceeding 50 kilometers per hour without

stopping. / T & faeT ¥ 50 freieiey ufay 6 @ i & afay & et &1

[Option ID = 1537]



If trains run through at a speed exceeding 40 kilometers per hour without

’ stopping. / Tfe ¢t faaT Tk 40 RaiAeT Ufa 8¢ & 3T Fr afa T Fodr & |

[Option ID = 1538]
, If trains run through at a speed exceeding 45 kilometers per hour without
stopping. / TfE &= 9T T 45 TraltATeT ufd o F 311 &1 a1fg & Torar g
[Option ID = 1539]
Warner signals are not required at class 'B' stations. / &ofr ‘&Y TEUST I AT

4 oo T 3T THaT LT

[Option ID = 1540]

Correct Answer :-

_ If trains run through at a speed exceeding 50 kilometers per hour without

stopping. / If& &=t foaT o 50 fhalidTey Ul 8¢ & 3T $r a1fa & Fordr 8 |

[Option ID = 1537]

* Minimum distance of Visibility Test Object (VTO) from station master’s office
should not be less than:

FEAA ATEE & HATT  G2IAT TUHET T (EN3HAT) HT 7T gif s0H FA
=T8I gleil =g

[Qtllestion ID = 386][Question Description = Q34_AOM_PA_NAIRAUG4]
120 meters or a lesser distance if expressly sanctioned by the Railway Board

" /120 e 30T FA G AR TOEHT F IO ANE F T

[Option ID = 1541]
180 meters or a lesser distance if expressly sanctioned by the Railway Board

" 1180 Hiex 3rrET FH g IR FoERT § W 9 F @A

[Option ID = 1542]
270 meters or a lesser distance if expressly sanctioned by the Railway Board

" /270 #irex s FH GR AR TOEET ¥ W A ¥ whea

[Option ID = 1543]
400 meters or a lesser distance if expressly sanctioned by the Railway Board

' /400 Frex 3rerEr FH GF AR TOEET ¥ Y N ¥ whea

[Option ID = 1544]

Correct Answer :-
180 meters or a lesser distance if expressly sanctioned by the Railway Board

/180 HieT 3ryaT HH gl AR TUSERT ¥ W@ A ¥ whepa

[Option ID = 1542]

35)
On which authority departure of a train from a line provided with a common

departure signal is done?

HIHT TEATeT [Tl aTell TSI T Cof T TEAT Tohd TR SaRT TehaT SATT &7

[Question ID = 387][Question Description = Q35_AOM_PA_NAIRAUG4]

" T-509 / gr-509
[Option ID = 1545]

> T-510 / €1-510

[Option ID = 1546]




* T-511 / 1-511
[Option ID = 1547]

“ T-512 / &-512

[Option ID = 1548]

Correct Answer :-

* T-512 / &-512

[Option ID = 1548]

**) Under which section/rule of general rules, shunting at stations under
centralised traffic control is performed?

AT At F e arnETs & saeta Sdpd e e & e
FEAAT U Qrfear FHT AT &2

[Question ID = 388][Question Description = Q36_AOM_PA_NAIRAUG4]

. Section 5.14 of general rules / ATHTT @T#AT ST &7 5.14
[Option ID = 1549]

> Section 5.15 of general rules / FTAY T T 4T 5.15

[Option ID = 1550]

s Section 5.16 of general rules / AT ATAT T &RT 5.16

[Option ID = 1551]

+ Section 5.17 of general rules / AT [ATAT $r arT 5.17
[Option ID = 1552]

Correct Answer :-

- Section 5.15 of general rules / FTHAY fAI#AT H 4T 5.15

[Option ID = 1550]

*) \When does a goods train considered ‘Over Due Train'?
R ATRIET 1 '30aT 8 1" e ATl SATdT 872

[Question ID = 389][Question Description = Q37_AOM_PA_NAIRAUG4]

If does not arrive within 05 minutes after allowing for its normal running time /

e U WA Hellelel HAY T IHeTHA & a1 05 [AeTC & HIeR ¢! ugea ¢

[Option ID = 1553]
2

If does not arrive within 10 minutes after allowing for its normal running time /

I 3= HIHAT FTlel HAT I IFAT & dTe 10 fATe & iR /g g &

[Option ID = 1554]
3

If does not arrive within 15 minutes after allowing for its normal running time |

I AU WHATTT ATl HHAY hT HAAT & 1 15 A & iR g1 ugad g

[Option ID = 1555]
4

| If does not arrive within 20 minutes after allowing for its hormal running time /

T Y AHTT FeTelel HI 1 HAAT o a1e; 20 T & #fiax 7gT ugad &

[Option ID = 1556]

Correct Answer :-



If does not arrive within 20 minutes after allowing for its normal running time |

e YA AT FATll HAT HT AT o ag 20 fAAC & iR AT Igaehl &

[Option ID = 1556]

38)

How long should the Loco Pilot wait after stopping the train in the rear of the

Automatic Stop signal during the night?
I o AT diehl Gl i ATeiATeHd T Hidol o RIAX H ¢of Udhad o d1G

fohcail 83 b SR el ATRT?

[Question ID = 390][Question Description = Q38_AOM_PA_NAIRAUG4]
- 30 seconds / 30 e

[Option ID = 1557]
> 1 minute / 1 &9

[Option ID = 1558]

3 2 minutes / 2 TS

[Option ID = 1559]

« 5 minutes / 5 TAAE
[Option ID = 1560]

Correct Answer :-

* 2 minutes / 2 fA=T

[Option ID = 1559]

39)

Brake power % at originating station for ‘Close Circuit’ rakes in Air

Brake Stock.
T sk Telah H ‘Fellal Afehe’ I & [T 3RAF T&Id WAF TR % ...

[Question ID = 391][Question Description = Q39_AOM_PA_NAIRAUG4]

100%
[Option ID = 1561]
= 90%
[Option ID = 1562]
> 95%
[Option ID = 1563] _
+ None of these / 7 ¥ FIg 7Tgr
[Option ID = 1564]

Correct Answer :-

*100%

[Option ID = 1561]

‘9 TVU is abbreviated for:

S ST HigTT ®9 &
[Question ID = 392][Question Description = Q40_AOM_PA_NAIRAUGA4]
. Track vulnerable unit / €& TeTeITa ol SHIS
[Option ID = 1565]
> Train vehicle unit / &= ITgT &8
[Option ID = 1566]

> Total vehicle unit / et aTee SIS

[Option ID = 1567]



* Traffic variation unit / IrarTd f&==ar g5E

[Option ID = 1568]

Correct Answer :-

- Train vehicle unit / &7 I8 TS

[Option ID = 1566]

‘D What is the distance at which the caution indicator is placed from the place of
obstruction on the Broad Gauge?

I IS UT AN 3 TATT & TAITAT FaTh Tehctail G T STMMAT ST 87
[Question ID = 393][Question Description = Q41_AOM_PA_NAIRAUG4]

' 800 meters / 800 HieT
[Option ID = 1569]

21200 meters / 1200 HeT

[Option ID = 1570]

* 800 meters / 600 HieI
[Option ID = 1571]

+ 1000 meters / 1000 HieI

[Option ID = 1572]

Correct Answer :- Deleted

‘2 What equipment is NOT a part of trolley, lorry, or motor trolley as prescribed
by the Railway Administration?

Lo T SaT AR 3T e |1 3UHIOT Zhell, SN AT AT ol T
[Question ID = 394][Question Description = Q42_AOM_PA_NAIRAUG4]

Copy of the Working Time Table with correction slips and appendices. / 4
ofHat AT aRTrset & |rer F1 gay gt $r ufd |

[Option ID = 1573]

Copy of the SWR with correction slips and appendices. / UR qf=rai 3T
qffArseT & Arer THE SN Fr uf|

1

[Option ID = 1574] .

: Two hand signal lamps / &Y &2 [&9eTel oiT
[Option ID = 1575] .

« Two red and two green hand signal flags / 3 oTeT 31T &Y Y 8T & eIl 318
[Option ID = 1576]

Correct Answer :-

Copy of the SWR with correction slips and appendices. / §UX iy 3k
qRfArset & |reY THESeIR Fr ufd|

[Option ID = 1574]

“) A Shunt Signal may be placed on a post by itself or below a stop signal other
than the ............ signal of station.

e AT FrEEITF ... oeter 3 37amar fordT Oree ax a7 oY =g
Qoo & 1= ST AT FAT B

[Question ID = 395][Question Description = Q43_AOM_PA_NAIRAUG4]
. Last Stop / 3TaH qgTE

[Option ID = 1577]



2 First Stop / gl 9S1d

[Option ID = 1578]

1 and 2 both / 1 3T 2 =T

[Option ID = 1579] . .
+* None of the above / 3U0ad H ¥ #Ig el
[Option ID = 1580]

Correct Answer :- Deleted

4“9 “RFID” means
"HRUGHTSE" T Addd &

[Question ID = 396][Question Description = Q44_AOM_PA_NAIRAUG4]

* Regulation Frequency Identification / Taf@a#ds Heddr ggdTa

[Option ID = 1581] )
> Radio Frequency ldentification / 23T hreradT Ug=mer

[Option ID = 1582]

* Radio Frequency Identification Department / 23T hraardT Ug=T= faemer
[Option ID = 1583]

+ Rail Fracture Identification Design / T thaaX Ug== Baest
[Option ID = 1584]

Correct Answer :-

* Radio Frequency ldentification / 2Tt threrardT gg=meT

[Option ID = 1582]

45)
Every consignment of explosives tendered for despatch shall be accompanied
by a pass (in duplicate) issued by the consignorin ......... as required under the

Explosive, Rules, 1983.
faTpIes fA3#, 1983 & Tgd, YT & fIT GEdd TaEPhIeah! T Tl WY & AT

Teh T (ST ITadl H) HESX GaRT IR .......... H HelaeT fonam Srwam|

[Question ID = 397][Question Description = Q45_AOM_PA_NAIRAUG4]

" Form-10 / BIA-10

[Option ID = 1585]

> Form 15 / BIHF 15
[Option ID = 1586]

» Form-16 / BIH-16
[Option ID = 1587]

+ Form-22 | BiH-22
[Option ID = 1588]

Correct Answer :-

* Form-16 / ®TH-16

[Option ID = 1587]

** The Central Government may, for the purpose of the efficient administration of
the Government railways, by notification, constitute such railways into as many
Zonal Railways under the section....... of Railway Act,1989.

¢ TFN, G 6T & FA TATHA & 3egeT ¥, g G@nr, o
fafeTe, 1989 T URT.... & T5d VN Tod & F5 &9 o9 7 1fed FT Foal
gl

[Question ID = 398][Question Description = Q46_AOM_PA_NAIRAUG4]



t 2
[Option ID = 1589]

3(1)

[Option ID = 1590]

[Option ID = 1591]
4. 4 (2 )
[Option ID = 1592]

Correct Answer :-

*3(1)

[Option ID = 1590]

47)

Exhibition of train timing & tables of fares at stations in Hindi and English and
also in regional language commonly in use in area where station is situated,
is mandatory under the section......... of Railway Act, 1989.

Tora fafaas, 1989 &1 &RT ... & ded T 0X o & GHT 3R o &1
FROT I fGar 3R 3G & TU-T1YT 3§ &7 587 T AT §, H JTAIR W
IUHTIT T AT areiT & 9T F YT 3T Afrard g1

[Question ID = 399][Question Description = Q47_AOM_PA_NAIRAUG4]
20 (11)

[Option ID = 1593]
> 30 (1)

[Option ID = 1594]

49 (1)

[Option ID = 1595]

* 50 (1)

[Option ID = 1596]
Correct Answer :-

*49 (1)

[Option ID = 1595]

“> Which is not subsystems of “FOIS"?
PisT TT “THINITSTH” T ITWUTIT 6T & ?

[Question ID = 400][Question Description = Q48_AOM_PA_NAIRAUG4]

" RMS / ARTHTH

[Option ID = 1597]

> TMS / SITaTH

[Option ID = 1598]

* |CMS / 3TEHTATE

[Option ID = 1599]

“ Nonhe / T 7Tgr

[Option ID = 1600]
Correct Answer :-

* |ICMS / 3EdTATH

[Option ID = 1599]



“ Which of the following software is used to monitor booking of Crew & Train
Manager?

feafaf@d # @ Rre Arreaay &1 39T § AR & AAaT $r it Fr FAarmet
¥ e T smar g2

[Question ID = 401][Question Description = Q49_AOM_PA_NAIRAUG4]

"ICMS /

[Option ID = 1601]
2 RMS / ARTHATH

[Option ID = 1602]

* TMS / fivaTg

[Option ID = 1603]

“ CMS / diTaTg

[Option ID = 1604]

Correct Answer :-

* CMS / divATH

[Option ID = 1604]

0 “|CMS” means-

"HTSHTHTH" T 3 §-

[Question ID = 402][Question Description = Q50_AOM_PA_NAIRAUG4]

" India Coaching Management Systems / HTTd 1T Tl YOI
[Option ID = 1605]

2 Integrated Coaching Management Systems It'ﬁ?l:—cl' HITIT T TOTTaIT

[Option ID = 1606]

> Integral Coaching Management Systems / S¢13Tel It dT Y& el TUTTeIT

[Option ID = 1607]

« Integrated Coaching Management Software / Tshiehd shIT=T Utle] HIFeaIT

[Option ID = 1608]

Correct Answer :-
+ Integrated Coaching Management Systems / TehTehdl hiT=IaT TeleleT TOTeI

[Option ID = 1606]

[Question ID = 403][Question Description = Q51_AOM_PA_NAIRAUG4]

| Software Aided Train Scheduling and Network Governance / IFcad TS
¢eT A5Yfelar 3R Hcash Tad

[Option ID = 1609]

Software Aided Train Scheduling and Navigation Governance / fFedaR T33
¢aT Aegfeler 3R AT ITa=ia

[Option ID = 1610]

'Scheduling and Train Software Aided Navigation Global / A folar AR e
TP TS ATGaNu Teligel

[Option ID = 1611]
4.



Station And Train Scheduling Aided Navigation Governance / T2l 3iX <o
AZYeleT USE AT el e

[Option ID = 1612]

Correct Answer :-

Software Aided Train Scheduling and Network Governance / IFcad TS
¢eT A5Yfelar 3R Hcash Tad

[Option ID = 1609]

[Question ID = 404][Question Description = Q52_AOM_PA_NAIRAUG4]

" Real Time Information System / Rarer E/8a =T TUTTelr

[Option ID = 1613]
> Real Time Train Information System / e @8H ¢ =T YUTTeIr

[Option ID = 1614]

: Right Time Information System / @&l §HI =T YUTToI!
[Option ID = 1615]

+ Route Track Information System / ¥¢ &% =T YOIl
[Option ID = 1616]

Correct Answer :-

* Real Time Train Information System /ﬁ'ﬂﬂ'ﬂgﬂ'aﬂ‘mqﬂﬂ?ﬁ'

[Option ID = 1614]

> Installation of a device in the locomotives to direct position and speed using
“‘GAGAN” means......

AATeT 7 T 3t a1fa #t FERT 7= & T 3uger & I F= g
Teh TATIT 3TRI0T "I FT 37T 8 ...

[Question ID = 405][Question Description = Q53_AOM_PA_NAIRAUG4]

_ GPS aided GEO augmented Navigation / ST @grarar gTed Se3T Fafda
At

[Option ID = 1617]

_ GPS arrangement GEO augmented Navigation / SiHTeH saaeT Sigair Haferd
At

[Option ID = 1618]

_ Global Aided GPS aided Navigation / AT9aer "eTIar ured SrdTeH HerIdar ured
ATare=

[Option ID = 1619]

. GEO aided GPS augmented Navigation | SIS FWeTIar ured vy gafda
Afaarere

[Option ID = 1620]

Correct Answer :-

_ GPS aided GEO augmented Navigation / SiIfITH HgrIdT uree g3 gafda
AT

[Option ID = 1617]



54)

Permissible Free Time for use of ground for dealing with container train for
type Il goods shed is ......... hours.

agqllm%ﬁ*i%mmé?r:ﬂﬁw o ToIT ST#TeT o 3TN o ToIT 37e7HA hr

[Question ID = 406][Question Description = Q54_AOM_PA_NAIRAUG4]
1.

[Option ID = 1621]
=15

[Option ID = 1622]
3.

18

[Option ID = 1623]

4. 30

[Option ID = 1624]
Correct Answer :-
(]

15

[Option ID = 1622]

>*) |n which following Zone, 25 Ton Axle Load Route is not available?
Arafaf@a # @ &9 AT # 25 & vFHd olig & 3 gl § ?

[Question ID = 407][Question Description = Q55_AOM_PA_NAIRAUG4]

" NWR/ T g6 AN

[Option ID = 1625]
» SER/TH § 3N
[Option ID = 1626]

* SCR/TH ¥ 3R

[Option ID = 1627]
* ECoR/§ & ¥
[Option ID = 1628]

Correct Answer :-

* NWR/ T 9 AT

[Option ID = 1625]

> What could be maximum speed of trains in Standard — | (R) interlocking?
ATTF — | (R) STTATRT H AT T ’frgs a1fey 71 87 ToraT 272

[Question ID = 408][Question Description = Q56_AOM_PA_NAIRAUG4]

" 60

[Option ID = 1629]
2. 70

[Option ID = 1630]
> 40

[Option ID = 1631]
4. 50

[Option ID = 1632]

Correct Answer :-
* 80

[Option ID = 1632]

? Choose correct option about objective of DATA Loggers-

ST & 3662 & g H HEl [dehod Iei-

[Question ID = 409][Question Description = Q57_AOM_PA_NAIRAUG4]



1 To record signal infractions and help in preventive maintenance / T&aaol

3cade & Nie Fie 3T TR @EeT # A #:ia & v

[Option ID = 1633]

> To detect SPAD cases / SPAD HATHeT &T IdT o9 & foIT

[Option ID = 1634]

, To ascertain the status of signals in the event of a dispute / IECICEIRTIG -]
eter & Pufa &1 gar semer

[Option ID = 1635]

+« All the above / 3UTeg Tafr
[Option ID = 1636]

Correct Answer :-

* All the above / 39q&d gsfr

[Option ID = 1636]

* Which of the following abbreviation is wrong?

g & O Fi9ar GiecdiaoT e &7

[Question ID = 410][Question Description = Q58_AOM_PA_NAIRAUG4]

_ COIS- Cargo Operations Information System / H3HTSTH- 11t HeTelel Ferell
qOTTelr

[Option ID = 1637]

> CMS- Crew Management System / HITHaTH- § =T YOIl

[Option ID = 1638] .

s TMS- Terminal Management System / ETTHTH- e UG eIl
[Option ID = 1639]

* RMS- Rake Management System / 3RUATH- I& Y4 GO
[Option ID = 1640]

Correct Answer :-

. COIS- Cargo Operations Information System / %fraﬁmétw-wffﬂulom L REL
TOTTeIT

[Option ID = 1637]

*» What is the full form of "GCT"?
"SITEET" T qUT & AT &2

[Question ID = 411][Question Description = Q59_AOM_PA_NAIRAUG4]

. Gati Shakti Carriage Terminal / fifaerfad &< e
[Option ID = 1641]

> Gati Shakti Multi-Modal Cargo Terminal / IIfq2Ied Heel-AISoT S €fHeTol
[Option ID = 1642]

. Government Cargo Terminal / TR ShI91T SiHAoT
[Option ID = 1643]

* Goods Cargo Terminal / I[SH 19l EfHeTel

[Option ID = 1644]

Correct Answer :-

* Gati Shakti Multi-Modal Cargo Terminal / IITa2ed Hocl-AISoT Sl € laeTeol

[Option ID = 1642]



" Which of the followings are eligible for to set-up GCTs as GCTO-
HAFATIET H W FieT AT T SATHICIIT F FT H AT F3eT & folw a7 &-

A. Partnership Firm / @8R B&

B. Company registered under Companies Act 2013 / Fu=T Ta=aH 2013 &
ded  USitehd =il

C. Limited Liability Partnership / Sfaaeaar smeigRr

D. Registered Society/ Registered Trust / Qﬁ;ﬁmm\?ﬁﬁﬁ' cIc

Choose the correct options given below-/ @ T 1T HET fAeredr &1 Ta= Fi-

[Question ID = 412][Question Description = Q60_AOM_PA_NAIRAUG4]

~Aand C /T3 H

R BandD /T A
KB and C /st
SR Cand Do ot

A, B,CandD/u, &, &@r3icsr

[Option ID = 1648]

¢ Gati Shakti Multi-Modal Cargo Terminals can be developed on —

ATTRATET ACEI-ATSS HIelf STaeTeT BT [ABTAT (AT ST Fhell & -
[Question ID = 413][Question Description = Q61_AOM_PA_NAIRAUG4]
 Non-Railway land / 3R¥& {f&
[Option ID = 1649]

» Railway land / Terd 8{f&

[Option ID = 1650]

». Fully or partially on Railway land / QUT: 372aT 3772 9 & {0 A W

[Option ID = 1651] .
« AllA, B and C are correct/ T T, Sy AT @ TEr &

[Option ID = 1652]

Correct Answer :-

- AllA, B and C are correct/ §T T, ST AT @ ®@gT &

[Option ID = 1652]

*» Within how many days the In-principle Approval (IPA) will be granted to the
applicant with the approval of DRM in case of GCT on Non-Railways land?

MY {fA W SE F ATHS # 3RCH FHT A F AT HAEEH F fohdar
f&at & sfrax Heenifas Fer (3mediv) & resfr?

[Question ID = 414][Question Description = Q62_AOM_PA_NAIRAUG4]
15 days / 15 f&d
[Option ID = 1653]

> 20 days / 20 f&F¥

[Option ID = 1654]
* 25 days / 25 f&=1

[Option ID = 1655]



+ 30 days / 30 fea

[Option ID = 1656]
Correct Answer :-

* 20 days / 20 &=

[Option ID = 1654]

*? Which of the following is true about Shunt Signal?

oI AT & I A Fe=foiad H ¥ FITar a7 g2

[Question ID = 415][Question Description = Q63_AOM_PA_NAIRAUG4]

More than one Shunt Signal can be placed on same post / T& &I 9T&e 9T Teh

) T 1o oie FQTaTal 9T ST Hoha &

[Option ID = 1657]

Upper most signal on post shall apply to left and lower out to right / 9I¥E T
Fad IO faeeter anft 3 3T Ged A= arer grit 307 &y gem

[Option ID = 1658]
3

" Not more than one Shunt Signal can be placed on same post / Teh & 9IFE 0
e O 3178 2ic Aol ST oMU 3T Tehd &

[Option ID = 1659]

Upper most signal on post shall apply to right / @& 9T T9H FLT [R@Tol T
HIT AT gram

[Option ID = 1660]

Correct Answer :-

More than one Shunt Signal can be placed on same post / Te &I 9i¥¢ U< Teh
T 37O o e sRT AT TFa &

[Option ID = 1657]

* When IBS is at “ON" and the telephone is out of order, Loco Pilot after waiting

for shall proceed when view is clear/not clear upto next stop
signal at a speed of

ST ST "3 81 3R SHwi @S &1, At Sl argele #r
TATETT e o 916 52T FISC/TASE o glel T T e & 3T
FeIT el deh 3T J67T|

[Question ID = 416][Question Description = Q64_AOM_PA_NAIRAUG4]

2 min., 10/8kmph / 2 &=, 10/8 fordT ufy ger

[Option ID = 1661] .

. 4 min., 25/10kmph / 4 fR=Te, 25/10 st ufa ger
[Option ID = 1662] .

> 5 min., 15/8kmph / 5 fA=ie, 15/8 ferat ufa wer
[Option ID = 1663] .

+ 2 min., 15/10kmph / 2 T&=1<, 15/10 Tt wfa ger
[Option ID = 1664]

* 5 min., 15/8kmph / 5 fA=ie, 15/8 fraY ufa et

[Option ID = 1663]



What are the minimum equipment of fixed signals in a ‘A’ class stations

provided with two-aspect signalling?

al-ggel Raesfeler arel ' Aoft & TCUAT 7 heres [Aaeier & #gAda 3THI0T F7

g?

[Question ID = 417][Question Description = Q65_AOM_PA_NAIRAUG4]
. Warner, Home, Starter / =i, §1H, T
[Option ID = 1665]

> Warner, Home / 1=, §1H

[Option ID = 1666]

* Home, Starter / g1H, TaTeT
[Option ID = 1667]

+ None of these / 78 ¥ Hig AT
[Option ID = 1668]

Correct Answer :-

* Warner, Home, Starter/'cl'l?rlT, Bﬁ? T

[Option ID = 1665]

66)

ETA@ ........ minutes per 100 kms shall be provided in sections having speed

of 110 kmph.

3 @War & F1er 1fta 110 fraAT 9o, § ggr 9fa 100 fordT o)

craluli coilc e

[Question ID = 418][Question Description = Q66_AOM_PA_NAIRAUG4]
L6

[Option ID = 1669]
2 4

[Option ID = 1670]
10

[Option ID = 1671]
4. 8

[Option ID = 1672]
Correct Answer :-
* 6

[Option ID = 1669]

¢7 Full Form of PDD.
dr 2r St &7 qUT ¥97 g

[Question ID = 419][Question Description = Q67_AOM_PA_NAIRAUG4]

" Post Departure Delay / 9iFe U= fBor
[Option ID = 1673]

> Post Departure Detention / 9T&e =i fBe=2r=
[Option ID = 1674]

> Pre Departure Detention / Wt =i f2de=

[Option ID = 1675]

* None of these / 78 ¥ &I Agl

[Option ID = 1676]

Correct Answer :-

* Pre Departure Detention / 9 Zram=iT 2T



[Option ID = 1675]

*® What does Section 50(2) of the Indian Railways Act state?
AT Yora ATAfTs &7 9Rr 50(2) 37 Faar £72

[Question ID = 420][Question Description = Q68_AOM_PA_NAIRAUG4]
1 The railway administration shall display the station's contact information / Yoa

T T2 & AU SATTHRT TSI LT

[Option ID = 1677]

The railway administration shall display the schedule of train services / ¥oia

| femme e Tt £ FEE I TS S

The railway administration shall display the hours during which booking
windows at a station shall be kept open for issuing tickets to passengers / ¥oTa

3

G 3T el Y vafed Heen S gt it # fewe S e F e
T 9T Ffowar TSR gelr Tt seeft
[Option ID = 1679]

, The railway administration shall display the list of prohibited items on trains /
Yora wRIrEe gat # gfaafRra aegai $r g gaiRia s
[Option ID = 1680]

Correct Answer :-

The railway administration shall display the hours during which booking
windows at a station shall be kept open for issuing tickets to passengers / YoTa

| qorHe 3o Tt yefia HET Sy e ot @y e 3l w3 ¥ R
T IY gfokar TSR gelr w&@r seeft

[Option ID = 1679]

¢ What type of examination is conducted for intensive examination of freight
wagons?

AT ST F TTEA TUETUT & TIT ToFg WehT T gI&T0T AT Tore foRar Srar 2
[Question ID = 421][Question Description = Q69_AOM_PA_NAIRAUG4]
. Premium examination / SIT&J# g{rayor

[Option ID = 1681]

> End-to-end examination / 37d-8-37d {i&oT

[Option ID = 1682] )
» Round trip examination / T3E ¢ 918707

[Option ID = 1683]

“ C.C Rake /@r. @ &

[Option ID = 1684]

Correct Answer :- Deleted

9 What does the term "power plan” refer to in the context of freight services?
ATl GolTS TaTHT o HGsT 7 "UTaT Tollel” 2Aeq &1 &1 37 §?

[Question ID = 422][Question Description = Q70_AOM_PA_NAIRAUG4]

_ Aplan to generate locos for train operations / T REATAA & foIT ollehl 3ol
A ST ATTAT

[Option ID = 1685]



2 A plan to allocate locomotives for freight services / AT _@T»ﬂ%‘ [Tt F T
ATRAICT AT FA T AT

[Option ID = 1686]

_ A plan to control limited use of locos / SRIAIET F WA ITAT F FAFT
YT I AT

[Option ID = 1687]

« A plan for crew scheduling / 3 8gfoier & forw ves Arste

[Option ID = 1688]

Correct Answer :-

A plan to allocate locomotives for freight services / HTel gollg HaT3it & forw
dArerAITeT 3Mafed w3 $T Tetar

[Option ID = 1686]

"V What action should be taken if walkie- talkie communication fails during
running of long haul train?

TfE |t g 37 & 0=y F ST aThr-erehr §9) ¥wer 1 AT af 7 F18ars &y
ST TIRT?

[Question ID = 423][Question Description = Q71_AOM_PA_NAIRAUG4]
" Continue the operation without communication / T=X & Te=T 3TOver= ST &

[Option ID = 1689]

Terminate the long haul movement at the next station / SIT3T &Tel ST ST TTATSTET
T 33Tl TSAT 9T TATST FY

[Option ID = 1690]

. Reduce the speed of the train / & &I 31T F FY

. Loco is declared fail / ST & theT EYRT &< 2T ST &

[Option ID = 1692]

2

Correct Answer :-

Terminate the long haul movement at the next station / 1137 &Tel &1 T TTATSTET
T 37Tl TSAF 9T FATST FY

[Option ID = 1690]

2 If a weighbridge becomes non-functional, how many days of loading
permission can be granted by the General Manager?

e FE 3-Fs BSFT g Sar €, Teveus gart A e i |z fr
AT &1 ST Hehell 87

[Question ID = 424][Question Description = Q72_AOM_PA_NAIRAUG4]

~ Upto1day/1 T d®
[Option ID = 1693]

» Up to 7 days / 7 e d=
[Option ID = 1694]

> Up to 30 days / 30 e e
[Option ID = 1695]

+ Up to 6 months / 6 AR deh

[Option ID = 1696]

Correct Answer :- Dgleted



) Under "Cargo Aggregator Transportation Product,” scheme, how many
maximum wagons can be loaded with more than two commodities in Block
Rake?

"IN TIAPET TTHUICAT WEFe’, ThiA F ded sdih IF H feasd foras
A H S F HAF TEJT A1 T ST Hehedlr §2

[Question ID = 425][Question Description = Q73_AOM_PA_NAIRAUG4]

 Not more than 20 wagons / 20 331 & FITET gl
[Option ID = 1697] .
> Not more than 10 waagons / 10 837 & FITET Far

» Not more than 5 wagons / 5 9T § FATET olal

[Option ID = 1699]

* None of these /| T8 & FIg el

[Option ID = 1700]

Correct Answer :-

* Not more than 20 wagons / 20 3379 & FITET el

[Option ID = 1697]

79 Under which of the following condition, the working of goods train without
brake van is prohibited?

fortaiaa 7 O fore ufa & 997 SFae & ATcEnE! &7 Harele afoid g7

[Question ID = 426][Question Description = Q74_AOM_PA_NAIRAUG4]

When the train is passing through a ghat section / ST&f &= ©TC HFAF ¥ T

1.
[Option ID = 1701]

. When the train is running without continuous air pressure / S ¢ TITAR gal
% ga1d & faaT ToT [T &l

[Option ID = 1702]

When there is total interruption of communication / s ?l?l'l'\"q:ﬂ' e ¥ IIfaT

3

ER

[Option ID = 1703] .
« When the train is running at night / ST &=1 T & ol T6T &1

[Option ID = 1704]

Correct Answer :- Dgleted

%) What does REMMLOT stand for?

HNSTHTATAINCET T FAT AT 7

[Question ID = 427][Question Description = Q75_AOM_PA_NAIRAUG4]
Remote Electric Locomotive Management and Monitoring System / &

[Option ID = 1705]

Remote Monitoring and Management of Locomotives and Trains / aliepiAITed
3R &=t T g IR 3T geye

[Option ID = 1706]

Rail Engine Mobile Management and Observation Tool / YT S AldS ol Tl

3’mmwm

[Option ID = 1707]



Real-time Engine Monitoring and Mobility System / ST&d e THT SoteT IRl

4.
3T arTreferar goTrelr
[Option ID = 1708]

Correct Answer :-

Remote Monitoring and Management of Locomotives and Trains / SlisprAITed
AR ZAT Fr g7e FeREr 3R gaue

[Option ID = 1706]

) What technology is used by the ACD system to determine train location,
speed, and course of travel?

& % T, 1T 3R I & A @ TR e & o v vomel ganr e
Tehelleh T TN T3HT ST &7

[Question ID = 428][Question Description = Q76_AOM_PA_NAIRAUG4]
' Radar systems / Ta¥

[Option ID = 1709]
* GPRS / Si:RwH

[Option ID = 1710]

> Global Positioning System (GPS) / Taliger ifararfeer e (Fdea)

[Option ID = 1711]
+ Local Area Network (LAN) / SiTerel TREAT ¢k (LAN)
[Option ID = 1712]

* Global Positioning System (GPS) / Taiigel Gifaraf=ier f[@EeH (SdvH)

[Option ID = 1711]

" Qperating Ratio indicates —
TeRfeeT 3reqare e Fear &-
[Question ID = 429][Question Description = Q77_AOM_PA_NAIRAUG4]

- Performance of Operating Department / GR=TeleT TSR T U5l
[Option ID = 1713]
> Financial Performance of the Railway / ¥o1d &7 fadig wed=
[Option ID = 1714]
* Goods Train Performance / ATIEr &l el
[Option ID = 1715]
+ Passenger Train Performance / IT3T 3MeY &1 U2l
[Option ID = 1716]
Correct Answer :-

* Financial Performance of the Railway / ToTa &7 {8 wa2=

[Option ID = 1714]

" W/L board is provided before Level crossing gate.
THAIR HIcsh o ggel W / L a5 YeTeT fomar STar g

[Question ID = 430][Question Description = Q78_AOM_PA_NAIRAUG4]

250 m / 250 HT.
[Option ID = 1717]

> 350 m / 350 HT.

[Option ID = 1718]

* 600 m / 600 #.

[Option ID = 1719]
+ 800 m /800 HT.

[Option ID = 1720]



Correct Answer :-

* 600 m / 600 #T.

[Option ID = 1719]

7 While stabling of a goods train Hand brakes of atleast wagons from
either end must be fully tightened.

TEH & FI T Fld AT A1 SR H ... A F gUgelh FH a1 AT

[Question ID = 431][Question Description = Q79_AOM_PA_NAIRAUG4]
2

[Option ID = 1721]
2. 4

[Option ID = 1722]
)

[Option ID = 1723]
4. 8

[Option ID = 1724]
Correct Answer :-
* 6

[Option ID = 1723]

8) Form filled after restoration of any means of communication after TFC on
Single Line or Double line is

mﬂmmmmwwwmmﬁ#¢mq T TEW #
T TATIS graT § ar TEAF ATEET & GaRT ... IH ST ST &

[Question ID = 432][Question Description = Q80_AOM_PA_NAIRAUG4]
“TIF-602/ @&/T® - 602
[Option ID = 1725]

> T/IG-602/ &/ —602

[Option ID = 1726]

*T/H-602/ &/ TI-602

[Option ID = 1727]
“ TN-602/ & /38 — 602
[Option ID = 1728]
Correct Answer :-

* T/NI-602/ & /3me - 602

[Option ID = 1728]

* Fog signal post is placed at from First stop signal.

PHETRYT 9T oF OF Reaa & ooy T Srar g

[Question ID = 433][Question Description = Q81_AOM_PA_NAIRAUG4]

120 m/ 120 &,

» 180 m / 180 T,

> 270 m / 270 #.

< 400 m / 400 .
[Option ID = 1732]

* 270 m / 270 #Y.

[Option ID = 1731]



820 Which of the following signal never placed alone on a post.

TR § Fi 1 Q7T Y off 3 giee O AL T AT ¥ |

[Question ID = 434][Question Description = Q8_2_AOM_PA_NAIRAUG4]
- Calling-On signal / FTTeieT 3T T&aaTel
[Option ID = 1733]

> Shunt Signal / 1€ T&7stel

[Option ID = 1734] .
> Repeating Signal / Rfufeer e

[Option ID = 1735]

« Warner Signal / a=i¥ f&ester
[Option ID = 1736]

Correct Answer :- . -

* Calling-On signal / TTeleT Hie [&aTel

[Option ID = 1733]

) Particular of stock of detonator is mentioned in part of fog signal
register.

AT FT T&TF T ATARNT BreATTT ToTEeT & 1T H g &

[Question ID = 435][Question Description = Q83_AOM_PA_NAIRAUG4]

1. 1Stf‘qgﬂ'|'

[Option ID = 1737]

2. 2nd!w

[Option ID = 1738]

> 3rd e

[Option ID = 1739]

4 e

[Option ID = 1740]
Correct Answer :-
o 2nd/ m

[Option ID = 1738]

8 In which appendix of SWR, rules for the working of trains in electrified section
is mentioned?

TH geo] IR & W UfETH & soiiwae JFee H fedt F w1 ¥ FEoT
IGE LR

[Question ID = 436][Question Description = Q84_AOM_PA_NAIRAUG4]

"B/
[Option ID = 1741]

“D/&r

[Option ID = 1742]

G /T
[Option ID = 1743]

“ F I T®

[Option ID = 1744]

Correct Answer :-

"G/

[Option ID = 1743]

[Question ID = 437][Question Description = Q85_AOM_PA_NAIRAUG4]



' Only Six / &del BE

[Option ID = 1745]

> Six Pause One / B¢ [9TH t&
[Option ID = 1746]

* Six Pause Two / &g @& ar
[Option ID = 1747]

“ Six Pause Three / g Aua &=

[Option ID = 1748]
Correct Answer :-

* Six Pause One / B¢ [9UH T

[Option ID = 1746]

Topic:- AOM_PB_NAIRAUG4

Y By which Constitutional Amendment Bill, the Anglo-Indian reserved seats in
the Lok Sabha and state legislative assemblies of India were discontinued?

ore wfaurer Heiue foer gan &liss § T AR Tt i faures Famsit # darat -
sfeuer &1 IRT&a Hiet &r 9 FT &2
[Question ID = 438][Question Description = Q01_AOM_PB_NAIRAUG4]

120t / 120 &T
[Option ID = 1749]

> 126t / 126 a7

[Option ID = 1750]

* 97t/ 97 aT

[Option ID = 1751]

“ None of these / SAH & FIs gl

[Option ID = 1752]

Correct Answer :-

* 126t / 126 &7

[Option ID = 1750]

» Who is first Indian player to win Olympic medal in badminton?
deffca H ATFYF UG Siidel dTall Ugall AR aTer i g

[Question ID = 439][Question Description = Q02_AOM_PB_NAIRAUG4]

. Prakash Padukone / 9JehI2T

[Option ID = 1753]

> Saina Nehwal / TTE=AT SAgaTel

[Option ID = 1754]
> PV Sindhu / 9T &t fiy

[Option ID = 1755]

“ Sania Mirza / Grferar [&=T

[Option ID = 1756]

Correct Answer :-

* Saina Nehwal / TTS=T AgdTel

[Option ID = 1754]

» Chambal river is tributary of which river?

ool TT4T TohdehT TETTH 1ar &7

[Question ID = 440][Question Description = Q03_AOM_PB_NAIRAUG4]

" (Ganges / 9910
[Option ID = 1757]

2 Yamuna / IHAT

[Option ID = 1758]



* Narmada / FHaT

[Option ID = 1759] X
+ None of these/ 84 T Hig FgS
[Option ID = 1760]

Correct Answer :-
* Yamuna / IH=T

[Option ID = 1758]

Y Who was the first Viceroy of India?

SRS & TUH IEEUT i o)
[Question ID = 441][Question Description = Q04_AOM_PB_NAIRAUG4]
- Lord Duffrin / 9ITe SR
[Option ID = 1761]
2 Lord Canning / #ITg AT

[Option ID = 1762]

> Lord Curzon / T8 &alel

[Option ID = 1763]

“ William Bentinck / T&Torad Sfeeh

[Option ID = 1764]
Correct Answer :-

* Lord Canning / &It faeT

[Option ID = 1762]

* In which year, the Battle of Buxar was fought?
AT T e form ay reT Tar?

[Question ID = 442][Question Description = Q05_AOM_PB_NAIRAUG4]

" 1764
[Option ID = 1765]

21737

[Option ID = 1766]

* 1760
[Option ID = 1767]

+ 1776
[Option ID = 1768]

Correct Answer :-

* 1764

[Option ID = 1765]

® In which state Manas National Park national park is located?

HIAH TSI 36T Tohd g & [Bua g2
[Question ID = 443][Question Description = Q06_AOM_PB_NAIRAUG4]
- Assam / ¥dH
[Option ID = 1769]
> Madhya Pradesh / 3T 92T
[Option ID = 1770]

* Karnataka / &aTesH

[Option ID = 1771]

+ Maharastra / #HERI ¢

[Option ID = 1772]

Correct Answer :-

* Assam / HHH

[Option ID = 1769]



7 Who is the director of the 3 Idiots film?

3 sfeuey hea F A Fia 82

[Question ID = 444][Question Description = Q07_AOM_PB_NAIRAUG4]

" Karan Johar / &30 FgT
[Option ID = 1773]

> Subhash Ghai / §HTY &%
[Option ID = 1774]

. Rajkumar Hirani / TSHAR fg e

[Option ID = 1775]
+ Adiya Chopra / 3TeeT =iger
[Option ID = 1776]

Correct Answer :-
* Rajkumar Hirani / ITSTAT Gl

[Option ID = 1775]

8 What name is given by ISRO to its Reusable Launch Vehicle (RLV) after
successful testing on 22" March 20247

SET & 22 AT 2024 Y Hhol TUET0T & 76 39 NI@iael olier sgidhel (3 T
aY ) FaT AT fTIT

[Question ID = 445][Question Description = Q08_AOM_PB_NAIRAUG4]

- Jatayu / STe€Tg
[Option ID = 1777]

> (Gaganyan / AT
[Option ID = 1778]

* Pushpak / 59

[Option ID = 1779]

+ None of these / 78 ¥ HIg 7T
[Option ID = 1780]

Correct Answer :-

* Pushpak / 59

[Option ID = 1779]

? The Department of Telecommunications has Launched a Spam-Call Reporting
Platform. What is name of it?

SIEAR et & 7 iy NOiE 731 & T ve coews arar fomam &) 3w A
FAT &7

[Question ID = 446][Question Description = Q09_AOM_PB_NAIRAUG4]

- Chakshu / =18

[Option ID = 1781]

> Bhashanet / TYTAE

[Option ID = 1782]
> Nazar / d33
[Option ID = 1783]
+ Avatar / AddIX

[Option ID = 1784]
Correct Answer :-

* Chakshu / =&

[Option ID = 1781]



' Who has won the most grand slam titles in Men’s Single?
Tehol J5Y H FeId HTUF I Told T3 foraa Sa?

[Question ID = 447][Question Description = Q10_AOM_PB_NAIRAUG4]
" Rafael Nadal / Trthel AgTeT
[Option ID = 1785]

> Roger Federer / Tei¥ theW

[Option ID = 1786]

> Pete Sampras / 9ie §9TH

[Option ID = 1787]

* Novak Djokovic / Alde SArhITaes
[Option ID = 1788]

Correct Answer :-

* Novak Djokovic / Alde SArhITaes

[Option ID = 1788]

' When National Tourism Day is being celebrated every year?

&Y I TSCIT Gded g Fd HAATIT ST 672

[Question ID = 448][Question Description = Q11_AOM_PB_NAIRAUG4]

5 January / 5

[Option ID = 1789]

> 25 January / 25 Sa8r
[Option ID = 1790]
* 15 February / 15 B{a<r

[Option ID = 1791]

“ 15 December / 15 fgHaT

[Option ID = 1792]

Correct Answer :-

* 25 January / 25 SeTa3r

[Option ID = 1790]

' Who is the Chief of the Naval Staff of India?
TAATH H AR & ATGAT ETE HiT 272

[Question ID = 449][Question Description = Q12_AOM_PB_NAIRAUG4]

. Admira R. Hari Kumar / TfATe 31X Fﬁ'gw-m

[Option ID = 1793]

> Admiral Dinesh Kumar Tripathi / TSf&Rer feeter $aAR farér

[Option ID = 1794] .
> Admiral Sunil Lamba / TSTATel Geilel aTeT

[Option ID = 1795]
+ Admiral Suresh Mehta / TS{ATe G AGT
[Option ID = 1796]

Correct Answer :-

+ Admiral Dinesh Kumar Tripathi / TSf@Rer feerer $aAR fmarér

[Option ID = 1794]

3 In which organ of the human body, lymphocyte cells are formed?

AT R & ohd 3197 & OFmraeey ¥« s dr g7

[Question ID = 450][Question Description = Q13_AOM_PB_NAIRAUG4]

" Thymus / 9ITH&H

[Option ID = 1797]



2 Lever / olfa¥

[Option ID = 1798]
> Spleen / TolleT
[Option ID = 1799]

“ Pancreas / UferarsT

[Option ID = 1800]
Correct Answer :-

* Thymus / IITAT

[Option ID = 1797]

) Optical Fiber works on which principle for its operation?
HifCearer BT FT AR Tohg fRgUTd I F1F FIaT 872

[Question ID = 451][Question Description = Q14_AOM_PB_NAIRAUG4]
' Refraction /

[Option ID = 1801]

> Total internal reflection / 0T 3TaR& TWEd=
[Option ID = 1802]

* Scattering / TehTOTT
[Option ID = 1803]

“ |Interference / ITdeRIOT

[Option ID = 1804]

Correct Answer :-

* Total internal reflection / qoT A& TWEd=

[Option ID = 1802]

) Where is the famous Virupaksha temple located?
ufleer fawarer AR Fef Tua g2

[Question ID = 452][Question Description = Q15_AOM_PB_NAIRAUG4]

' Srikalahasti /

[Option ID = 1805]

> Chidambaram / RgFatA

[Option ID = 1806]

* Hampi / Fdr

[Option ID = 1807]

+ Bhadrachalam / dAgI=lelH
[Option ID = 1808]

Correct Answer :-

* Hampi / =T

[Option ID = 1807]

" Where did the Moplah revolt of 1921 broke out?
1921 T AT [AEIg el §HT?

[Question ID = 453][Question Description = Q16_AOM_PB_NAIRAUG4]
' Karnataka /

[Option ID = 1809]

> Tamilnadu / AfAeleTg

[Option ID = 1810]

* Maharastra /[HgISE

[Option ID = 1811]
+ Kerala / el

[Option ID = 1812]

Correct Answer :-



* Kerala / %l

[Option ID = 1812]

' Which party was founded by Subhash Chadra Bose in the year 1939 after he
left the Indian National Congress?

FATY Teg; AT o SARAT TSI FIEH BISA % q18 1939 H FHiadT It F1 75
foram am?

[Question ID = 454][Question Description = Q17_AOM_PB_NAIRAUG4]

" Indian Freedom Party / ST TF3dT 9rer
 Azad Hind Fauj / 3TTE, fgog BisT
R any e
« Eorward Bios/ HIRIE solieh

[Option ID = 1816]

Correct Answer :-

* Forward Bloc / BI{ae saish

[Option ID = 1816]

'® Qut of these, which state of India has the lowest density of population as per
census of the year 20117

2011 Y STIUTAT & AR, TAH W A & oFq [T FT TAHEAT Ueled Fard
FAE?

[Question ID = 455][Question Description = Q18_AOM_PB_NAIRAUG4]

" Sikkim / @EFH

[Option ID = 1817]
. Meghalaya / ®ETer

[Option ID = 1818]
s Arunachal Pradesh / 37SUTT=Iel &2l

[Option ID = 1819]
+ Himachal Pradesh / fgAT=er wger

[Option ID = 1820]

Correct Answer :-

- Arunachal Pradesh / 3%0Tr=Iel &2l

[Option ID = 1819]

' Which of the following is the custodian of the Indian Constitution?

Trafoiaa § ¥ i AT F T &7 JI8TF 872

[Question ID = 456][Question Description = Q19_AOM_PB_NAIRAUG4]

" The President of India / $TRT & TS
[Option ID = 1821] .

> The Prime Minister of India / A & TeTHHAT
[Option ID = 1822]

* The Lok Sabha Secretariat / alteh T H=&TT
[Option ID = 1823]

* The Supreme Court of India / Hd &I Haf=d =I1ATd

[Option ID = 1824]

Correct Answer :-

* The Supreme Court of India / 3T &T TafeT ATATITT

[Option ID = 1824]



29 ‘Right to Privacy’ is protected under which Article of the Constitution of India?

T & HIAUT & fohd 3Te0g & Heaeld eerdr & AR Ffaa 82

[Question ID = 457][Question Description = Q20_AOM_PB_NAIRAUG4]

. Article 15/3-1?:1%_615

[Option ID = 1825]

. Article 21 / 3eI=e5q 21

[Option ID = 1826]

5. Article 29 / 3-1?_-;?5.‘#?: 29

[Option ID = 1827]
« Article 19 / 31[=0E 19

[Option ID = 1828]

. Article 21 / 377=35% 21

[Option ID = 1826]

) Who was first Indian lady actress to receive the Padma Shri Award?

TEH AT JEERN TS T ATell TUH AT Afgor A== Hi g2

[Question ID = 458][Question Description = Q21_AOM_PB_NAIRAUG4]

- Smita Patil /

[Option ID = 1829]
> Nargis Dutt / FXFTH &

[Option ID = 1830]

.. Meena Kumari / Iﬁ?-lTsmﬂ

[Option ID = 1831]
+ Madhubala /H‘%_]'EI'IFIT

[Option ID = 1832]

Correct Answer :-

- Nargis Dutt / AT &

[Option ID = 1830]

22 Pulitzer Prize is associated with which one of the following areas?
gioice JeEhR [FFaTol i &5 # ¥ | T & eieud 87
[Question ID = 459][Question Description = Q22_AOM_PB_NAIRAUG4]

- Environmental protection / GaTaYoT HI&TOT

[Option ID = 1833]
2 Olympic games / 3ifeleas Wl

[Option ID = 1834]

s Journalism / UFRTIRET

[Option ID = 1835]
+ Civil aviation / AR 388T=T
[Option ID = 1836]

Correct Answer :-

* Journalism / OFRITET

[Option ID = 1835]

2) Which one of the following was the first fort constructed by the British in India?

ST 7 AT ® AT & @ Fiaar vasw fFar w1 Fator G oar?
[Question ID = 460][Question Description = Q23_AOM_PB_NAIRAUG4]

" Fort William / i€ Rfeas

[Option ID = 1837]

> Fort St. George / B¢ He HAle



[Option ID = 1838]

s Fort St. David / B¢ ¢ 2fag
[Option ID = 1839]

s« Fort St. Angelo / Bic H€ TsTalr
[Option ID = 1840]

Correct Answer :-

* Fort St. George / B¢ HE HAle

[Option ID = 1838]

2 Which one of the following began with the Dandi March?
fAFATI I A @ HITHT Tk ST AT & A1 YE §3AT?

[Question ID = 461][Question Description = Q24_AOM_PB_NAIRAUG4]
. Swadeshi Movement/ T2t 3Tgiei=T
[Option ID = 1841]

2 Non- Cooperation Movement /37HgJIeT 3TeTels

[Option ID = 1842]
* Civil Disobedience Movement / STaa1T 3T AT 3Gl
[Option ID = 1843]

+« Quit India Movement / IXd ©Iar TS ol

[Option ID = 1844]

Correct Answer :-

* Civil Disobedience Movement / BfaaT 9T HgTo

[Option ID = 1843]

2 |ndia bought the Barak anti- missile defence systems from which country?

T o U U [Aaes By Awes T g 3 @ler

[Question ID = 462][Question Description = Q25_AOM_PB_NAIRAUG4]

" |srael / ST

[Option ID = 1845]

> France / BTH

[Option ID = 1846]

* Russia / &H

[Option ID = 1847]

< USA/qTHT
[Option ID = 1848]

Correct Answer :-

* |Israel / AT

[Option ID = 1845]

2 Famous Golf player Vijay Singh is from which country?

TG et TWee! faery g fra gar a g
[Question ID = 463][Question Description = Q26_AOM_PB_NAIRAUG4]
* Fiii / fR=iT
[Option ID = 1849]

> Mauritius / AT

[Option ID = 1850]
» Malaysia / #aITr

[Option ID = 1851]

* India / AR

[Option ID = 1852]
Correct Answer :-
. i
Fiii / ToaiT
[Option ID = 1849]



) \What dance form is Lachhu Maharaj related to?

AT T oG AR F I 87

[Question ID = 464][Question Description = Q27_AOM_PB_NAIRAUG4]

+ Odissi dance / 3TeH T
[Option ID = 1853]
> Bharatnatyam dance / #iTAATCIH Fcd

[Option ID = 1854]

. Kathak dance / HYh T

[Option ID = 1855]
+ Folk dance / FI’IEFEI_FCI
[Option ID = 1856]

Correct Answer :-

- Kathak dance / HYh T

[Option ID = 1855]

28) Who won the French Open 2024 women's singles in Tennis?

o A ther 39eT 2024 AT T fBras Sfar?

[QuestionJD = 465][Question Description = Q28_AOM_PB_NAIRAUG4]
" lga Swiatek / 9T
[Option ID = 1857]
> Jasmine Paolini / STH ar3iTiera
[Option ID = 1858]

> Elina Svitolina / TfarAT fEaatfe=r

[Option ID = 1859]

“ Coco Gauff / &Ikl 3TH

[Option ID = 1860]
Correct Answer :-
* Iga Swigtek / 3T f&aaTeH

[Option ID = 1857]

29 Who is Chief of the Defence Staff (CDS) of India?
AR F T&T 97T (N6 AT 2 F1oh) Hi 872

[Question ID = 466][Question Description = Q29_AOM_PB_NAIRAUG4]

' General Anil Chauhan / S=1Tel
[Option ID = 1861]

> General Vipin Rawat / ST=Tel faft= Trad
[Option ID = 1862]

> General Manoj Pande / Sielal ATt T8
[Option ID = 1863]

+ General Manoj Mukund Narvane / ST&i¥el #Falal Hebog, GECIG)

[Option ID = 1864]

Correct Answer :-

- General Anil Chauhan / a3l Hiaol Tige

[Option ID = 1861]

39 Quit India Movement was launched in response to which of the following
event?

A BIST 3Melol I @7 7 § 7y Teanra & e 7 % fRar ar?

[Question ID = 467][Question Description = Q30_AOM_PB_NAIRAUG4]

" Cabinet Mission Plan/ Taeic &2 oo

[Option ID = 1865]



> Cripps Proposals / fccg u&ama
[Option ID = 1866]

> Simon Commission Report / Wmsﬁm
[Option ID = 1867]

“ Wavell Plan / aTaef TolTeT

[Option ID = 1868]
Correct Answer :-

* Cripps Proposals / fsreeq U&ama

[Option ID = 1866]

*Y The first marine sanctuary in India was established at where?

T T TGl HAGT HHANTT gl FATII fohaT arar?

[Question ID = 468][Question Description = Q31_AOM_PB_NAIRAUG4]

. Sundarbans /gm?r

[Option ID = 1869]
> Chilka Lake / faeTeht SiTer

[Option ID = 1870]

* Gulf of Kutch / =& $T @

[Option ID = 1871]
* Lakshadweep / T&Ead
[Option ID = 1872]

Correct Answer :-

* Gulf of Kutch / = T @l

[Option ID = 1871]

*» World Environment Day is celebrated on which date?

TreT waravor feaw forw arfie & #=mn Srar €2

[Question ID = 469][Question Description = Q32_AOM_PB_NAIRAUG4]
- 5 June / 5 ST

[Option ID = 1873]

2 25 July / 25 SIS

[Option ID = 1874]

10t July /10 FeITg

[Option ID = 1875]

4 qst m
15t July /13
[Option ID = 1876]

Correct Answer :-

* 5t June / 5

[Option ID = 1873]

** The Clouds float in the atmosphere because of their low .......... ?
AIHS A FTEol o § FANF AR FH ... T ?

[Question ID = 470][Question Description = Q33_AOM_PB_NAIRAUG4]

" Temperature / ITTHATA
[Option ID = 1877]

2 \elocity / 97T
[Option ID = 1878]

> Pressure / gT

[Option ID = 1879]
* Density / Galcd

[Option ID = 1880]

Correct Answer :-



* Density / g9

[Option ID = 1880]

*¥ Cryogenic engines find applications in which technology?
FHA{F SoTeT FoFH derailer 7 3O Goa 872
[Question ID = 471][Question Description = Q34_AOM_PB_NAIRAUG4]

- Sub- marine propulsion / @ A YUNE

[Option ID = 1881]
> Frost- free refrigerators / HIEe T THifaRed
[Option ID = 1882]

» Rocket technology / Tiehe dehellsh

[Option ID = 1883]

+ Research in superconductivity / TfcraTershar & 31u_1.+iﬂ|ri

[Option ID = 1884]

Correct Answer :-

- Rocket technology / Tehe deheileh

[Option ID = 1883]

% Epiphytes plants which depend on other plants for what?

fergreT gier gay giut 9t foraes fore st e 872
[Question ID = 472][Question Description = Q35_AOM_PB_NAIRAUG4]

" Food / #1=TeT

[Option ID = 1885]

> Physical Support / i @grr
[Option ID = 1886]

> Shade / &TIT
[Option ID = 1887]

+ \Water / 9T

[Option ID = 1888]

Correct Answer :-

* Physical Support / siifae @grr

[Option ID = 1886]

3% What is the major component of the honey?
EG H AT U FAT8?
[Question ID = 473][Question Description = Q36_AOM_PB_NAIRAUG4]
- Glucose /
[Option ID = 1889]

> Sucrose / GhIE

[Option ID = 1890]
* Maltose / ATl

[Option ID = 1891]
« Fructose / ;msr
[Option ID = 1892]

Correct Answer :-

* Fructose / gﬁﬁ.”ﬁr

[Option ID = 1892]

" Octopus is -
[Question ID = 474][Question Description = Q37_AOM_PB_NAIRAUG4]

- An Arthropod / Ts gfeerare grofr



[Option ID = 1893]

> An Echinoderm / Teh [er=r#T SToft

[Option ID = 1894]
. A hemichordate / T w TTofT

[Option ID = 1895]

“ A Mollusc / T AiaEH

[Option ID = 1896]

Correct Answer :-

* A Mollusc / T ATaIEH

[Option ID = 1896]

*® Sunil Chhetri is related to which sport?
Geitel &4 ohH Wl & HATOT 872
[Question ID = 475][Question Description = Q38_AOM_PB_NAIRAUG4]

* Football / Gesier

[Option ID = 1897]

> Hockey / glehT

[Option ID = 1898]

* Cricket / fSrepe
[Option ID = 1899]

+« Tennis /| =H
[Option ID = 1900]

Correct Answer :-

* Football / Hedrel

[Option ID = 1897]

*» Haldhar Nag who was given Padma Shree Award belongs to which state?

FoTeT AT fStetep! Ug A A qEErr feam o g, fore Te & Hay T@a 872
[Question ID = 476][Question Description = Q39_AOM_PB_NAIRAUG4]

" Chhattisgarh /&draeE

[Option ID = 1901]

> Bihar / [9gX
[Option ID = 1902]

* Odisha / 3gr&T
[Option ID = 1903]

“ Jharkhand / ST@E

[Option ID = 1904]

Correct Answer :-

* Odisha / 3gm@T

[Option ID = 1903]

‘9 Who won best actor award in lead role in 69t Filmfare Award?
69 a7 fthea BT ToERNT H FAATS HTHATT ( AT HfHPT ) T [oEh fohda
Sdar?

[Question ID = 477][Question Description = Q40_AOM_PB_NAIRAUG4]

' Salman Khan / SoTHTT @l
[Option ID = 1905]

> Ranbir Kapoor / T0TER Y

[Option ID = 1906]

» Akshay Kumar / 37&7T AN

[Option ID = 1907]

+ Ranveer Singh / T0TER &%



[Option ID = 1908]
Correct Answer :-

- Ranbir Kapoor / T0T& YT

[Option ID = 1906]

" EAfTRd & T FiT 6 TorE Tt AREEE 1963 T 4w 3 (3) F ad
AT ABT 82

Which of the following document is not covered under Section 3 (3) of the
Official Language Act 19637

[Question ID = 478][Question Description = Q41_AOM_PB_NAIRAUG4]

" HTATET ATEA / General Order

[Option ID = 1909]

» HOF=T / Notification

[Option ID = 1910]
* ug faAT / Press Communique

[Option ID = 1911]
+« 3¥Tae / Representation
[Option ID = 1912]

Correct Answer :-

* H¥IT9es / Representation

[Option ID = 1912]

) giaure 1 8 & T # At & Sl df AT AT L E |
Which one of the following languages is not included in the 8th Schedule of

the Constitution?
[Question ID = 479][Question Description = Q42_AOM_PB_NAIRAUG4]

- AUTST / Nepalese

[Option ID = 1913]

> 35/ Urdu

[Option ID = 1914]

> #TSTY{T / Bhojpuri
[Option ID = 1915]

* el / Sindhi
[Option ID = 1916]

Correct Answer :-

+ #ISTq{T / Bhojpuri

[Option ID = 1915]

) fe=ar AT % faere o T & 7 3ea@ AR & AU & 5H 3e0e # 87

In which article of the Constitution of India mentioned Directive for
development of the Hindi language?

[Question ID = 480][Question Description = Q43_AOM_PB_NAIRAUG4]

- 3TTeE 343 / Article 343
[Option ID = 1917]
» HeTTiE 344 / Article 344

[Option ID = 1918]

. HeeG 351/ Article 351

[Option ID = 1919]

+ AN W IS A1 / None of these



[Option ID = 1920]

. 317E5 351/ Article 351

[Option ID = 1919]

“ IraterreT T 1963 & ATy Fa =Far 7AT?
When was Official Language Act 1963 amended?

[Question ID = 481][Question Description = Q44_AOM_PB_NAIRAUG4]

1965
[Option ID = 1921]
1970
[Option ID = 1922]
1967
[Option ID = 1923]
“ 1976
[Option ID = 1924]

Correct Answer :-

* 1967

[Option ID = 1923]

) GEET TTATY GTATT F TTTAT F ohds ASTT g0 §2

How many members of the Rajya Sabha are there in the Parliamentary
Committee on Official Language?

[Question ID = 482][Question Description = Q45_AOM_PB_NAIRAUG4]

1. 18

[Option ID = 1925]

10

[Option ID = 1926]
22

[Option ID = 1927]

“156

[Option ID = 1928]
Correct Answer :-

" 10

[Option ID = 1926]

) STSATST 3H & ITAR, §T8 U el T ToT T &7 H 61 AT 872

According to the Official Language Rules, which of the following states does
not come under 'B' region?
[Question ID = 483][Question Description = Q46_AOM_PB_NAIRAUG4]

- BATEee / Chhattisgarh

[Option ID = 1929]
2 IS0 / Gujarat

[Option ID = 1930]

. Hgeg / Maharastra

[Option ID = 1931]

+ A8 W HIS A&1 / None of these
[Option ID = 1932]

Correct Answer :-

* TS / Chhattisgarh

[Option ID = 1929]



) HF A Wi T ATSAT AT H =il 1T emiarer ofr?

How many languages were initially included in the 8th Schedule of the

Constitution?

[Question ID = 484][Question Description = Q47_AOM_PB_NAIRAUG4]
1. 1 2

[Option ID = 1933]
2. 20

[Option ID = 1934]
21

[Option ID = 1935]
“14

[Option ID = 1936]
Correct Answer :-
L]

14

[Option ID = 1936]

“®) gk Y Beal ad Fe AT ST 872
When "Hindi Diwas" is celebrated every year?

[Question ID = 485][Question Description = Q48_AOM_PB_NAIRAUG4]
14 A9F4T / 14 November

[Option ID = 1937]

2 14 T@a#=T / 14 September

[Option ID = 1938]
* 14 FTadr / 14 January

[Option ID = 1939]
4 T&TFaT | 4 September
[Option ID = 1940]

Correct Answer :-

* 14 fgFaT/ 14 September

[Option ID = 1938]

) JISTHATST ST TN PIAShA [ohd HATSTT GIRT SR R AT SATAT 87

Which ministry issues the annual program of official language?
[Question ID = 486][Question Description = Q49_AOM_PB_NAIRAUG4]
- YT HATIT / Ministry of Railways
[Option ID = 1941]

> 3§ HATSIT / Home Ministry
[Option ID = 1942]

s T8 HATAT / Ministry of Defence
[Option ID = 1943]

* T #3117 / Finance Ministry
[Option ID = 1944]

Correct Answer :-

+ 3[§ HATSIT / Home Ministry

[Option ID = 1942]

0 SR =TT iRt FHr rg=r 3g gfAfaar g 2
How many Sub-Committees are there in the Committee of Parliament on
Official Language?

[Question ID = 487][Question Description = Q50_AOM_PB_NAIRAUG4]

* 01 39 @iATT / 01 Sub Committee

[Option ID = 1945]



> 02 37 AT / 02 Sub Committee
[Option ID = 1946]

» 03 37 §TATT / 03 Sub Committee
[Option ID = 1947]

+ 04 37 GfATT / 04 Sub Committee
[Option ID = 1948]

- 04 37 AT / 04 Sub Committee

[Option ID = 1948]

) gidure & foFW e 7 HTSAT HFHET I T §7?
In which articles of the constitution does the provision of the Eighth Schedule
exist?
[Question ID = 488][Question Description = Q51_AOM_PB_NAIRAUG4]
- A=t 344(1) 3R 351 / Article 344(1) and 351
[Option ID = 1949]
» 37e]=0q 345 / Article 345
[Option ID = 1950]

+ TTG 348 R 346(1) / Article 348 and 346(1)

[Option ID = 1951]

« 3TT=5E 344 / Article 344
[Option ID = 1952]

Correct Answer :-

+ 3T=8E 344(1) 3T 351 / Article 344(1) and 351

[Option ID = 1949]

D f3rg Y FAUTEI TS T AT HGT H ST 74T
In which year was the Nepali language included in the Eighth Schedule?

[Question ID = 489][Question Description = Q52_AOM_PB_NAIRAUG4]

2003
[Option ID = 1953]
> 1998
[Option ID = 1954]
> 1967
[Option ID = 1955]
“ 1992
[Option ID = 1956]
Correct Answer :-

° 1992

[Option ID = 1956]

? Yoy Fr T TTATT FET TR F T sl ag &2

Who is the Chairperson of the Regional Official Language Implementation
Committee of Indian Railways?

[Question ID = 490][Question Description = Q53_AOM_PB_NAIRAUG4]

- HAgseleh / General Manager

[Option ID = 1957]
2 Y HAgadYes / Additional General Manager
[Option ID = 1958]

. HUSH Yol YatIs / Divisional Railway Manager

[Option ID = 1959]



. g@mwaﬁ?ﬂfr/ Mukhya Rajbhasha Adhikari

[Option ID = 1960]

Correct Answer :- Deleted

) TS fPT- 1976 Reafafla # & Rra T ox o] 8T 1T §2

Official Language Rules-1976 are not applicable to which of the following

state?
[Question ID = 491][Question Description = Q54_AOM_PB_NAIRAUG4]

- 3Nar / Goa

[Option ID = 1961]

. TafEeRa / Sikkim

[Option ID = 1962]
. dfAeeTg / Tamilnadu
[Option ID = 1963]
+ 3TFUTTTT W2l / Arunachal Pradesh
[Option ID = 1964]
Correct Answer :-

+ dffe=Tg / Tamilnadu

[Option ID = 1963]

*? Fereireh! Yord Tl 9¥ R 7 HoT Teh for@el & oI fAw Sirer arel (UEh &7
T ATH §72
What is the name of the award given for writing original books in Hindi on
technical Railway Subjects?

[Question ID = 492][Question Description = Q55_AOM_PB_NAIRAUG4]

1. SITel gTgY ATEAT deheilen] T&EHR / Lal Bahadur Shastri Technical Puraskar

[Option ID = 1965]

> f9qeTRAT Fehaitehl Y&ERR / Visvesvaraya Technical Puraskar
[Option ID = 1966]

5. STATSTEeT T dehaileh! J&ERR / Jagjivan Ram Technical Puraskar

[Option ID = 1967]
« TSl AT Theitehl J&EFR / Rajeev Gandhi Technical Puraskar
[Option ID = 1968]

Correct Answer :-

JCIE TR ammﬁw / Lal Bahadur Shastri Technical Puraskar

[Option ID = 1965]

Topic:- AOM_PC_NAIRAUG4

" Under which rule of Railway Service Conduct Rules is movable and
immovable property mentioned?

o7 Qa1 3T A ¥ 5w e & gga 9o 39 9ufa & S A Sood 87

[Question ID = 493][Question Description = Q01_AOM_PC_NAIRAUG4]

" Rule 18 / =T#& 18
[Option ID = 1969]

> Rule 17 / @I#& 17
[Option ID = 1970]

*Rule 22A/f@g# 22 T

[Option ID = 1971]

“ Rule 19 / @a# 19

[Option ID = 1972]



Correct Answer :-

* Rule 18 / =#H 18

[Option ID = 1969]

“ Period of appeal under DAR rules is ........

3TTATHA U 3Tl i o el el sl AT HAT ......... 2l

[Question ID = 494][Question Description = Q02_AOM_PC_NAIRAUG4]

- 30 days / 30 &
8 days 115
. 45 days / 45 =
55 daye 135

Correct Answer :-

* 45 days / 45 T&=T

[Option ID = 1975]

» How much employee contribution goes to NPS?

TANTH H HH= S wetdr rgar ufaera frar smar g2

[Question ID = 495][Question Description = Q03_AOM_PC_NAIRAUG4]
+10% of Basic pay + DA/ T8 T + HgINS HAT T 10 %
- 15% of Basic pay + DA/ 3Tlie & + Hgag s/ 7 15 %

[Option ID = 1978]

» 25% of Basic pay / 9f8& I FT 25 %

. 8% of Basic pay + DA / & I + HgaS ST &7 8 %

[Option ID = 1980]

Correct Answer :-

*10% of Basic pay + DA/ 9f@% O + Hgag ST 1 10 %

[Option ID = 1977]

4 Which Authority is empowered to order for cut in pension of retired railway
servant under DAR proceedings?

SIVHR FRIETE! F d8d YaTiedd Yo Wefeh I T2 H Feldr F1 Areer & & faw
e TR 7

[Question ID = 496][Question Description = Q04_AOM_PC_NAIRAUG4]

- GM / TR
[Option ID = 1981]

* DRM / I31RTH
[Option ID = 1982]

* President of India / 8T & Tseafd

[Option ID = 1983]
* None of these / 3H ¥ FIg AT
[Option ID = 1984]

Correct Answer :-

* President of India / ¥R & ST

[Option ID = 1983]



* What is the minimum period of child care leave to be considered for sanction
to a female government servant?

Te Higell TR FHART Sl FLT  foIT TFER Fr S aTell TEee AT oG 6T
FYAdH AT FAT 8?2

[Question ID = 497][Question Description = Q05_AOM_PC_NAIRAUG4]
- 5 days /5 fest

[Option ID = 1985]
210 days / 10 &=

[Option ID = 1986]

> 20 days / 20 &=

[Option ID = 1987]

+ None of these / ST T F1g Al

[Option ID = 1988]
Correct Answer :-

- 5days /56

[Option ID = 1985]

® Who is custodian of listed documents in a departmental enquiry?
frsmftar sirer & geftaey axaraat 1 GiaTe Hid g1a1 872

[Question ID = 498][Question Description = Q06_AOM_PC_NAIRAUG4]

 Presenting officer / SEcerar 7feremrer

[Option ID = 1989]

* Defence assistant / €T dgldeh
[Option ID = 1990] )

> Inquiry officer / ST 3T&IT
[Option ID = 1991]

* None of these / &TH ¥ HIg gl
[Option ID = 1992]

Correct Answer :-
+ Presenting officer / SEerall 3TTereRmr

[Option ID = 1989]

7 From which financial year, was the Railway Budget included with the General
Budget?
forar T 3 & Y1 sfe & 3H 937c & anfdre forar arar?

[Question ID = 499][Question Description = Q07_AOM_PC_NAIRAUG4]

" 2017-18
[Option ID = 1993]

* 2015-16

[Option ID = 1994]
»2018-19
[Option ID = 1995]

+ 2014-15

[Option ID = 1996]

Correct Answer :-

© 2017-18

[Option ID = 1993]

® The full form of RRSK is
HARARTHS T 0T §7 &

[Question ID = 500][Question Description = Q08_AOM_PC_NAIRAUG4]



- Rashtriya Rail Sanraksha Kosh / TTSéTar YT HI&T Y
[Option ID = 1997]

> Rashtriya Rail Sahayata Kosh / IS¢ {ef HgTdT 1Y
[Option ID = 1998]

- Rashtriya Rail Suraksha Kosh / Is€13 Yol FI&TT &Iy

[Option ID = 1999]

+ Rashtriya Rail Sahitya Kosh / TS Yof Hifgcd T
[Option ID = 2000]

Correct Answer :-

- Rashtriya Rail Sanraksha Kosh / ITSérar Yeof HT&T T

[Option ID = 1997]

? The plan Head under which works for Traffic facilities are included?

AT 8% e 3fedeld ATarara Giaunat & 13 ot 872
[Question ID = 501][Question Description = Q09_AOM_PC_NAIRAUG4]

17

[Option ID = 2001]
2. '1 6

[Option ID = 2002]
> 63

[Option ID = 2003]
“ 42

[Option ID = 2004]
Correct Answer :-
*16

[Option ID = 2002]

9 Re-appropriation of funds from one itemised work to another itemised work of
a plan head is within the power of?

TH T g2 F UF Foagy U ¥ @ Acecy F ¥ fow @Afet @
UoATa it e HTUHR H 872
[Question ID = 502][Question Description = Q10_AOM_PC_NAIRAUG4]

~ PHOD / dra=rairar

[Option ID = 2005]

> DRM / SI3RTH

[Option ID = 2006]

* Railway Board / ¥od a1
[Option ID = 2007]

+ GM / Sfres
[Option ID = 2008]

Correct Answer :-

* GM /TR

[Option ID = 2008]

'Y Railway servant is required to report to government any movable property
transaction, if value of this transaction exceeds “X” amount. What is value of
“x”?

T TS Ht ORET off I Fula F e T I TIHR S &7 gEl, I 5

AeACsT & Hed “X” A & 3HTF §| X’ HT H{od FAT 87
[Question ID = 503][Question Description = Q11_AOM_PC_NAIRAUG4]
 One month’s basic pay / T& Hglel T Hd ade

[Option ID = 2009]



> Two month’s basic pay / & Hglel T Hel adel
[Option ID = 2010]

» One year's basic pay / Teh HTel bl Hdl ade
[Option ID = 2011]

+ Six month’s basic pay / B¢ Hglel &l Hol ddel

[Option ID = 2012]

Correct Answer :-

* Two month’s basic pay / & Hglel &l Hel ddel

[Option ID = 2010]

2 To what extent commutation of pension is allowed into a lumpsum payment as
a retirement benefit to a railway employee?

Yo FHAAR I FfAg S AT & F H G FT THALT o7 hH HAT T

A HT AT £7

[Question ID = 504][Question Description = Q12_AOM_PC_NAIRAUG4]
" 25%

[Option ID = 2013]
= 40%

[Option ID = 2014]
* 50%

[Option ID = 2015]
4. 60(%,

[Option ID = 2016]
Correct Answer :-
0
* 40%

[Option ID = 2014]

¥ What is full form of CGEGIS?
Y. 5. & Sft. 371E. T 1 quT §9 AT 87

[Question ID = 505][Question Description = Q13_AOM_PC_NAIRAUG4]

Central Government Employee Group Investment Scheme / &g TIF FHANT

1.
g FRau w=hA
[Option ID = 2017]

Central Government Employee Group Insurance Scheme / 3¢ IR FHHATL

2.
HHE AT TR
[Option ID = 2018]

Central Government Employee Group increment Scheme | Shg RN FHHATL

[Option ID = 2019]

* None of these / TAH T FIg AgT

[Option ID = 2020]

Correct Answer :-

Central Government Employee Group Insurance Scheme / 3g I HHATL
HHE 1A A

[Option ID = 2018]

> How much Transport Allowance is paid to a railway employee with disabilities?

Tk TIholiaT {oT FETNT T fohdaT URageT sTaT 8T SATar 872

[Question ID = 506][Question Description = Q14_AOM_PC_NAIRAUG4]



" The normal rate of Transport Allowance / IREg 5o I ATHTT &I &
[Option ID = 2021]

Double the normal rate of Transport Allowance / IREg H I HHT I &

[Option ID = 2022]

Triple the normal rate of Transport Allowance / TREg 8T I THTT & H
IGEIGH

2

2

[Option ID = 2023]
+ None of these / EAH ¥ IS g
[Option ID = 2024]

Correct Answer :-

Double the normal rate of Transport Allowance / TREgT 99 I AHATT ST T

[Option ID = 2022]

» Name the tribunal specially constituted to adjudicate disputes and complaints
with respect to recruitment and conditions of service of persons appointed by
central government offices.

&g BIHN F FraTerat # Fgerd safFaat $r o7t i dar 1 o0af & gau 7 Qarer
3T fArrrardt & AUeR & O B9 &9 § ST =aranfeeRIor &7 A9 a1

[Question ID = 507][Question Description = Q15_AOM_PC_NAIRAUG4]

" Central Administrative Tribunal / a1 TeTHTAS ~ITATTLRI0T

[Option ID = 2025]

» Railway Claims Tribunal / oI ETaT =TSR T0T
[Option ID = 2026]

> Railway Rates Tribunal / ¥oTe &7 #ITATTeeRI0T
[Option ID = 2027]

* Industrial Tribunal / 33T FATATTERTOT
[Option ID = 2028]

Correct Answer :-

* Central Administrative Tribunal / g1 U2maTaes araTferaToT

[Option ID = 2025]

9 What is full form of RESS?
AR § TH TH &I JUT §I FAT ¢ ?

[Question ID = 508][Question Description = Q16_AOM_PC_NAIRAUG4]

" Railway emplovee Service Record store / ToTd FHIRT 84T Nahie T

[Option ID = 2029]
> Railway Employee Service site / ¥ FHTRT TaT T
[Option ID = 2030]

> Railway Employee self service / {od =T T8I TaT

[Option ID = 2031]

+ Railway employee Service Record system / ¥oTa Sa=<r a1 Rerie Rees
[Option ID = 2032]

Correct Answer :-

* Railway Employee self service / {o/d &H=NT T&T TaT

[Option ID = 2031]



' Under HOER (Hours of Employment Regulations) rules, which category of
employees will not have roster hours?

T 3T € 3 (VTR & ue e ) FaAt & gga, Fa Aol & sa=mat & o
UEeT U AT BIAT7?
[Question ID = 509][Question Description = Q17_AOM_PC_NAIRAUG4]

. Excluded /

[Option ID = 2033]

> |ntensive / H / Ecfedd

[Option ID = 2034] )
> Continuous / AT / &iftesgH
[Option ID = 2035] . )
+ Essentially intermittent / TER= ATl EeT(HET
[Option ID = 2036]
Correct Answer :-

* Excluded / TeFHeFo[eS

[Option ID = 2033]

'® Which standard form is used for deemed suspension of a railway servant?

Teh Yol Uk o S1%8 foioiae & forT ford ATeTes o= &7 3UreT foram AT 872
[Question ID = 510][Question Description = Q18_AOM_PC_NAIRAUG4]
- SF-1/TH TH -1
[Option ID = 2037]

* SF-2 / TH U -2
[Option ID = 2038]

* SF-3/TH TR -3
[Option ID = 2039]

“ SF-4 /| TH TH -4
[Option ID = 2040]

*SF-2/TH TR -2

[Option ID = 2038]

9 Commuted pension of a railway servant is restored after a period of .......

T It UFeh T FFges Tere ... Fr HI™ F 91 TETT T AT B
[Question ID = 511][Question Description = Q19_AOM_PC_NAIRAUG4]
12 years /1299
[Option ID = 2041]
> 15 years / 1598

[Option ID = 2042]

10 years / 10 95
[Option ID = 2043]

+ @ years /6 a¥
[Option ID = 2044]

Correct Answer :-

* 15 years / 1598

[Option ID = 2042]

20 Who is the chairman of Headquarter level committee of the SBF (staff benefit
fund)?

THATUT (F2TH JAIhE BE) T HEATSTT Tad HIH T T T HieT g7

[Question ID = 512][Question Description = Q20_AOM_PC_NAIRAUG4]



" PCPO / dr&dTaar

[Option ID = 2045]

» GM / T H

[Option ID = 2046]

* AGM / TalITH
[Option ID = 2047]

“ PFA / 9IUthT

[Option ID = 2048]

Correct Answer :-

* PCPO / dr&dTafr

[Option ID = 2045]

Y What amount is given as Subsistence Allowance?

foaTg o= fopaer fear S &2

[Question ID = 513][Question Description = Q21_AOM_PC_NAIRAUG4]

+ 30% of last pay / 37Tad O &1 30%
+ 40% of last pay / 3Tdd T T 40%
.+ 50% of last pay / 3ITdH T T 50%
+ 25% of last pay / 3iTce 9 T 25%

Correct Answer :-

- 50% of last pay / 3ifa# T &1 50%

[Option ID = 2051]

22 \What is full form is UMID?

JUANTEET &7 Qo7 § 47 §7?

[Question ID = 514][Question Description = Q22_AOM_PC_NAIRAUG4]

* Universal Medical Identity Card / Jfia@el Afgsel HESACIE FI8
[Option ID = 2053]

> Unique Medical Identity Card / Jfe1er AfSshdl ATSeATCIC HIS
[Option ID = 2054]

> Unique Medical Information Details / gfeier Afghel grthidle gceod

[Option ID = 2055]

* None of these / SAH ¥ &I TEr

[Option ID = 2056]

Correct Answer :-

* Unique Medical Identity Card / gfis Afesar smesafele w12

[Option ID = 2054]

) The Study of proposals for new marshalling yards, major yards, Goods
terminals, Transit yards, with an objective of removing bottlenecks in
movement of increased traffic are known as -------

AT Ariferer arsf, sea aret, 2w ffAe, giffe aret & gwdret 1 sregye, 9
BT ATATIAT o HTETSITET & TeAeToll STeT3HT 1 ET Fe1 & 3T F T AT TEdTT
oy p— FETH AATATTE |

[Question ID = 515][Question Description = Q23_AOM_PC_NAIRAUG4]

' Machine & Plant Works / A& T3 G337 &1



[Option ID = 2057]
> Line Capacity Works / SITg«T &HdT &1
[Option ID = 2058]
> Development Works / [aea® S/
[Option ID = 2059]
* Maintenance Works / T&&TS H1

[Option ID = 2060]
Correct Answer :-

* Line Capacity Works / 98T &HdT &1

[Option ID = 2058]

2 Which of the following tier is mandatory under National Pension Scheme
(NPS) for Railway Employees?

o FA=iEt F e seee teret TP (Tadivd) F dgea e A g Sl ar
oo e §7

[Question ID = 516][Question Description = Q24_AOM_PC_NAIRAUG4]

- Tier-11 / eI Il

[Option ID = 2061]

> Tier-l / f&TT |

[Option ID = 2062]

> Both tier-l & tier-11 / it T¢I | Ta eI ||

[Option ID = 2063]

+ Not compulsory / e 3T Fal &
[Option ID = 2064]
Correct Answer :-

* Tier-1/ f&TT |

[Option ID = 2062]

25 CAG is an abbreviation for?

[Question ID = 517][Question Description = Q25_AOM_PC_NAIRAUG4]

. Comptroller and Auditor General / a3 3T Fgrer@r qiieTs

[Option ID = 2065]

> Comptroller and Accounts General / &3 31T AgR@FHR

[Option ID = 2066]

». Chief Auditor General / &I Hglel@l TI&TH

[Option ID = 2067]

+ Chief Accounts General / &I AgTeI@TRR
[Option ID = 2068]

Correct Answer :-

- Comptroller and Auditor General / a3 3T Fgrer@r TiieTs

[Option ID = 2065]

2 Which is the platform through which procurement of goods and services is
done by the Government Ministries and Departments, Public Sector
Undertakings and other apex autonomous bodies of the Central Government?

TE FIT AT ITHA & ST ATETH T GIHRT A0 AR [T, aaafes 30+
3R g TR & 37 oY T Ferr gant seqgar AR dansit & @l $
ST 87

[Question ID = 518][Question Description = Q26_AOM_PC_NAIRAUG4]
' Government eMarket /




[Option ID = 2069]
> National eMarket Ltd / s¥2IsTeT sATRE fafAes

[Option ID = 2070]

: Rashtriya eMarket / TSEIT HTRE

[Option ID = 2071]

« eSamrudhi / SHHT

[Option ID = 2072]
Correct Answer :-

* Government eMarket / ITGTHE SHTHC

[Option ID = 2069]

2 What is the periodicity of ‘Participation of Railway Employees in Management’
(PREM) meeting at Zonal level?

FeTel oIFel I ‘U H Tod FHTATNEAT ST ATNGRY (V) 9 T 3TTaeremar
g7

[Question ID = 519][Question Description =_QZ7_AOM_PC_NAIRAUG4]

- Once in a year / ATl # Teh a7
[Option ID = 2073] .

> Once in 6 months / 6 AgIA & Tah 917
[Option ID = 2074]

* Once in 3 months / 3 AZIH H Tk I
[Option ID = 2075]

“ Once in a month / T AgIA H T 91T
[Option ID = 2076]

Correct Answer :-

* Once in 3 months / 3 AGIA & Teh I

[Option ID = 2075]

*» Pink Book is issued by......
[ -y — S #TaT g

[Question ID = 520][Question Description = Q28_A_0M_PC_NAIRAUG4]
" Ministry of Finance / &= #artera

[Option ID = 2077]
* Division / #USol

[Option ID = 2078]

* Zonal Railway / &30 o9

[Option ID = 2079]

* Railway Board / ¥o1q a2
[Option ID = 2080]

Correct Answer :-

* Railway Board / {o/d s1g

[Option ID = 2080]

2 Administrative approval of Competent Authority for incurring expenditure is
accorded at this stage?

$H T T T YA % oIl HETH TR Sl TR FaTh (el TaTeT T AT
g7

[Question ID = 521][Question Description = Q29_AOM_PC_NAIRAUG4]

. Abstract Estimate / @IT He]HTeT

[Option ID = 2081]

2. Detailed Estimate / ﬁ?—?—ﬁ 3-1?_I=TI'I?-|'

[Option ID = 2082]



> Revised Estimate / @eN &I 1A
[Option ID = 2083]

+ Completion Estimate / T BTl 3T 3TATA
[Option ID = 2084]

Correct Answer :-
* Abstract Estimate / HIT 3eJHTeT

[Option ID = 2081]

9 The total value of Railway Assets is reflected in which Accounts Statement?

Yora gt &7 Fol Hodr orw o favor # afterfard gar 82
[Question ID = 522][Question Description = Q30_AOM_PC_NAIRA.UG4]
* Capital and Revenue Accounts / Gt X T=TEd @Il
[Option ID = 2085]

> Block Accounts / edier @Ta

[Option ID = 2086]
s Final Accounts / 3Ta® @

[Option ID = 2087]
+« Current Account / dTe] @TdT
[Option ID = 2088]

Correct Answer :-

* Block Accounts / edTe @Ta

[Option ID = 2086]

3 Operating Expenses- Fuel shall be charged to ....... ?

TRET eI - 4 Hi ¥ TTeT fFar ATTaT?

[Question ID = 523][Question Description = Q31_AOM_PC_NAIRAUG4]

* Demand No. - 12/ @HE T, - 12
[Option ID = 2089]

> Demand No. - 10/ f2AIEH. - 10
[Option ID = 2090] R .

> Demand No. - 11/ @A T. - 11
[Option ID = 2091]

* Demand No. - 14/ BATE . - 14
[Option ID = 2092]

* Demand No. - 10/ @\TE T, - 10

[Option ID = 2090]

* Which is correct plan head for RSP proposals?

IRTHYT YEATT & [T g TiaTar oY &hisT a1 8?2

[Question ID = 524][Question Description = Q32_AOM_PC_NAIRAUG4]
- PH-21 / 9iTe-21
[Option ID = 2093]

> PH-41 / 4iT=-41

[Option ID = 2094]

* PH-31 / diw=r-31
[Option ID = 2095]

* PH-42 / 942
[Option ID = 2096]

Correct Answer :-

* PH-21 / 9iT=r-21

[Option ID = 2093]



33)

The unavailed period of joining time admissible to a Railway servant shall be
credited to his/her which leave account?

Yo FAART GaRT A AR TGUT e ST THT T TR ITAT o R STt
Fr 2 7 Ig TR gRr @a # JiE fGar ararg?

[Question ID = 525][Question Description = Q33_AOM_PC_NAIRAUG4]

 LHAP / 3¢ a0 31aehrel
[Option ID = 2097]

= LAP / 33T 39 3raeh1r

[Option ID = 2098]
* Casual Leave / 31TeRTEHE T
[Option ID = 2099]

+ Restricted holiday / SfaaTaa 3raeprer

[Option ID = 2100]

Correct Answer :-

* LAP / 33T 3a4 Aah1er

[Option ID = 2098]

* A person seeking any information from any Railway office, under Right to
Information Act, has to make request to the

T AT ZaRT, TIAT & AFR 30T & e, fFdr o9 s ¥
PYE T O & T P PR T grer 8]

[Question ID = 526][Question Description = Q34_AOM_PC_NAIRAUG4]

. Central Public Information Officer of that office /Wﬁmﬁm#ﬁ'ﬂ'ﬁw
EIBEIR

[Option ID = 2101]
* Head of that office / 3 Ao/ & HHEATATHE

[Option ID = 2102]

_ Officer who is custodian of that information / 38 TR & Trws o I8
T E

[Option ID = 2103]

+ Head of Dak Receipt section / T STied %WTQ?WEI;@'

[Option ID = 2104]

Correct Answer :-

. Central Public Information Officer of that office /Wm#mmm
TRl

[Option ID = 2101]

*) The Report of the Comptroller and Auditor General of India is presented to the

Parliament and it is taken up for consideration by the of the
Parliament.

TR & = 3T #@grerar gdets Hr RO gue 7 gr S smar g ey
I §ES Y ganT 31T fa=T o Srar 2

[Question ID = 527][Question Description = Q35_AOM_PC_NAIRAUG4]

" Estimates Committee / TTECHE FHCT

[Option ID = 2105]

> Committee on Public Undertakings / aiTsF 3UH Fadr



[Option ID = 2106]

> Business Advisory Committee / SITIX TTEF FHT

[Option ID = 2107]

“ Public Accounts Committee / i oI@T AT
[Option ID = 2108]

Correct Answer :-

* Public Accounts Committee / Stk I@T FHT

[Option ID = 2108]





